PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Auditorium REGULAR BOARD WORKSHOP/ACTION MEETING

October 13, 2015 6:10 P.M. MINUTES

- 1. Call to Order at 6:10p.m.
- 2. Reading of the Open Public Meetings Act Notice

Statement-Board President

"This is to advise those present at this October 13, 2015 Regular Board Workshop/Action Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on January 21, 2015 of the 2015 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call - Board Secretary, Mr. Elisha Thompkins:

Mrs. Bernice (Sandy) Couch Present Ms. Silvia Landron Present Mr. Johnny McClellan Absent Mr. Paul Moore, Jr. Absent Ms. Sharnell S. Morgan Present Ms. Elysa Sanchez Present Mrs. Ethel Seymore Present Mrs. Carla Thomas Present Mr. Lawrence A. Davenport Present

- 4. Flag Salute and Moment of Silence by Ms. Silvia Landron
- Mr. Paul Moore arrived at 6:15p.m.
- 5. Voices of the Children N/A
- 6. Review of Board Minutes Mr. Elisha Thompkins: Board Secretary

August 11, 2015 (Special Board Meeting) August 18, 2015 (Workshop/Action Meeting)

Please see page 3 for vote on PBOE Minutes

- 7. Board Approval of Workshop/Action Agenda Items:
 - Finance Mr. Thompkins, Jr. reviewed the Finance Agenda. Please see page 9 for Finance Agenda vote.
 - Facilities Mr. Marsh presented and reviewed the Facilities Usage Report. Additional usage requested by the Loveland/Boggs family.
 - ➤ Human Resources Mr. Delcher reviewed and discussed the Human Resources Agenda. The interviews for the Interim Director of Student Services will take place on October 14, 2015. Vote on HR Agenda Items will take place after Executive Session.
 - Curriculum & Instruction Dr. Bailey discussed the Minutes from the C&I Committee meeting and discussed the C&I Agenda. Please see page 60 for C & I Agenda vote.

Public Comments. Please limi *Ms. Latanya Elias *Ms. Ernestine Smith *Ms. Sharnell Morgan	it comments to (£	5) minute:	s and all com	ments should b	e courteou	s and respect	ful.
-		cond by _	Mrs. Carla	Thomas	····		
Pleasantville Board of Education accordance with the provision discussed on this date in the PENDING, AND ANTICIPATI session will be disclosed to the to maintain the confidential nation Roll Call: Mrs. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Mrs. Carla Thomas Mr. Lawrence A. Davenport Mr. Moore left Board Meeting &	on may go into cons as set forth in a session of the ED LITIGATION of public at this tirture of the items Yes Yes Yes Absent Yes	losed or p n N.J.S.A Board o . BE IT ne or a fu	orivate session 10:4-12 and to the FURTHER sture meeting	on from which the d 10:4-13. The public: PERS RESOLVED the	he public she following SONNEL, Fonat the disc	nall be exclude subjects sha PUPIL MATTE cussion in clo	ed in II be ERS, osed
Mrs. Couch left Board Meeting	at 9:30p.m.						
		Seco	nd by: <u>Mrs</u>	Carla Thomas	S	Yea: <u>X</u>	
	*Ms. Emestine Smith *Ms. Emestine Smith *Ms. Sharnell Morgan Motion to go into Executive See Motion by Ms. Sharnell Morga Pleasantville Board of Educative accordance with the provision discussed on this date in the PENDING, AND ANTICIPATI session will be disclosed to the to maintain the confidential nate Roll Call: Mrs. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Mrs. Carla Thomas Mr. Lawrence A. Davenport Mr. Moore left Board Meeting and Ms. Morgan left Board Meeting and Ms. Morgan left Board Meeting and Ms. Morgan left Board Meeting and Ms. Couch left Board Meeting and Ms. Morgan left Board Meeting and Ms. Elysa Sanchez Mrs. Ethel Seymore Mrs. Ethel Seymore Mrs. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Mrs. Ethel Seymore Mrs. Carla Thomas	*Ms. Ernestine Smith *Ms. Sharnell Morgan Motion to go into Executive Session Motion by Ms. Sharnell Morgan See Executive Session Motion by Ms. Sharnell Morgan and Seconded Pleasantville Board of Education may go into accordance with the provisions as set forth in discussed on this date in the session of the PENDING, AND ANTICIPATED LITIGATION session will be disclosed to the public at this tir to maintain the confidential nature of the items Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Silvia Landron Yes Mr. Johnny McClellan Absent Mr. Paul Moore, Jr. Yes Ms. Sharnell S. Morgan Yes Ms. Elysa Sanchez Yes Mrs. Ethel Seymore Yes Mrs. Carla Thomas Yes Mr. Lawrence A. Davenport Yes Mr. Moore left Board Meeting at 9:10p.m. Ms. Morgan left Board Meeting at 9:30p.m. Motion to come out of Executive Session Motion by: Mrs. Ethel Seymore Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Silvia Landron Yes Mr. Johnny McClellan Absent Mr. Paul Moore, Jr. Absent Mr. Paul Moore, Jr. Absent Ms. Sharnell S. Morgan Absent Ms. Elysa Sanchez Yes Mrs. Ethel Seymore Yes Mrs. Carla Thomas Yes	*Ms. Latanya Elias *Ms. Ernestine Smith *Ms. Sharnell Morgan Motion to go into Executive Session Motion by Ms. Sharnell Morgan Second by	*Ms. Latanya Elias *Ms. Emestine Smith *Ms. Sharnell Morgan Motion to go into Executive Session Motion by Ms. Sharnell Morgan Second by Mrs. Carla Executive Session Motion by Ms. Sharnell Morgan and Seconded by Mrs. Carla Thoma Pleasantville Board of Education may go into closed or private sessic accordance with the provisions as set forth in N.J.S.A. 10:4-12 an discussed on this date in the session of the Board closed to the PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER session will be disclosed to the public at this time or a furture meeting to maintain the confidential nature of the items discussed. Roll Call: Mrs. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Mrs. Carla Thomas Mrs. Couch left Board Meeting at 9:10p.m. Ms. Morgan left Board Meeting at 9:20p.m. Mrs. Couch left Board Meeting at 9:30p.m. Motion to come out of Executive Session Motion by: Mrs. Ethel Seymore Mrs. Bernice (Sandy) Couch Ms. Silvia Landron Mrs. Sernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mrs. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Mrs. Carla Thomas Mrs. Ethel Seymore Mrs. Carla Thomas	*Ms. Emestine Smith *Ms. Sharnell Morgan Motion to go into Executive Session Motion by Ms. Sharnell Morgan	*Ms. Latanya Elias *Ms. Emestine Smith *Ms. Sharmell Morgan Motion to go into Executive Session Motion by Ms. Sharmell Morgan Second by Mrs. Carla Thomas Executive Session Motion by Ms. Sharmell Morgan and Seconded by Mrs. Carla Thomas at 7:16 p.m., it is hereby Pleasantville Board of Education may go into closed or private session from which the public sh accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The following discussed on this date in the session of the Board closed to the public. PERSONNEL, F PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the disc session will be disclosed to the public at this time or a future meeting of the Board when it is no to maintain the confidential nature of the items discussed. Roll Call: Mrs. Bernice (Sandy) Couch Yes Mrs. Silvia Landron Yes Mrs. Johnny McClellan, Absent Mr. Paul Moore, Jr. Mrs. Korgan left Board Meeting at 9:10p.m. Mrs. Morore left Board Meeting at 9:20p.m. Mrs. Couch left Board Meeting at 9:30p.m. Motion to come out of Executive Session Motion to come out of Executive Session Motion by: Mrs. Ethel Seymore Ns. Silvia Landron Yes Mrs. Silvia Landron Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Motion to come out of Executive Session Motion by: Mrs. Ethel Seymore Ns. Silvia Landron Yes Mrs. Silvia Landron Yes Mrs. Silvia Landron Yes Mrs. Sharnell S. Morgan Ms. Silvia Landron Yes Mrs. Sharnell S. Morgan Ms. Elysa Sanchez Yes Mrs. Ethel Seymore Yes Mrs. Ethel Seymore Yes Mrs. Carla Thomas Yes Mrs. Carla Thomas Yes Mrs. Carla Thomas	*Ms. Emestine Smith *Ms. Sharnell Morgan Motion to go into Executive Session Motion by Ms. Sharnell Morgan Second by Mrs. Carla Thomas Executive Session Motion by Ms. Sharnell Morgan and Seconded by Mrs. Carla Thomas at 7:16 p.m., it is hereby resolved that Pleasantville Board of Education may go into closed or private session from which the public shall be exclude accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The following subjects shall discussed on this date in the session of the Board closed to the public. PERSONNEL, PUPIL MATTE PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the discussion in ck session will be disclosed to the public at this time or a future meeting of the Board when it is no longer neces to maintain the confidential nature of the items discussed. Ms. Silvia Landron Yes Ms. Silvia Landron Yes Ms. Elysa Sanchez Yes Mrs. Carla Thomas Yes Mrs. Couch left Board Meeting at 9:10p.m. Ms. Morgan left Board Meeting at 9:20p.m. Mrs. Couch left Board Meeting at 9:30p.m. Motion to come out of Executive Session Motion by: Mrs. Ethel Seymore Second by: Mrs. Carla Thomas Yea: X Ms. Sharnell S. Morgan Absent Mr. Johnny McClellan Absent Mr. Paul Moore, Jr. Absent Ms. Sharnell S. Morgan Yes Mrs. Carla Thomas

12. Reconvene Board Meeting at 9:36p.m.

13.	Motion to approve the PBOE MOTION BY: Ms. Elysa San		SECOND BY:	Mrs. Carla Thomas		Yea: X
	ROLL CALL:	01102	. 0200115 51	THIS OUND THOMAS		10a. <u></u>
	Ms. Bernice (Sandy) Couch	Absent				
	Ms. Silvia Landron	Yes	<u>-</u>			
	Mr. Johnny McClellan	Absent	•			
	Mr. Paul Moore, Jr.	Absent	<u>-</u>			
	Ms. Sharnell S. Morgan	Absent	-			
	Ms. Elysa Sanchez	Abstain	-			
	Mrs. Ethel Seymore	Abstain	<u>-</u>			
	Ms. Carla Thomas	Yes	•			
	Mr. Lawrence A. Davenport	Yes				
	MOTION PASSED	100	-			
	Motion to approve Human R	esources	Agenda Items #	1-24		
	MOTION BY: Ms. Elysa Sar	nchez	SECOND BY:	Ms. Silvia Landron		Yea: X
	ROLL CALL:					
	Ms. Bernice (Sandy) Couch	Absent				
	Ms. Silvia Landron	Yes	-			
	Mr. Johnny McClellan	Absent	-			
	Mr. Paul Moore, Jr.	Absent	-			
	Ms. Sharnell S. Morgan	Absent	-			
	Ms. Elysa Sanchez	Yes	-			
	Mrs. Ethel Seymore	Yes	-			
	Ms. Carla Thomas	No	-			
	Mr. Lawrence A. Davenport	Yes	-			
	MOTION FAILED, per Elisha		ns. Jr Board Se	cretary		
	Please see attachment from					
14.	Motion to Adjourn the Meeting	at 9:40p.r	n.			ű.
	Motion by: Mrs. Ethel Seym			s. Silvia Landron		Yea: X
	Roll Call:		·			
	Mrs. Bernice (Sandy) Couch	Absent				
	Ms. Silvia Landron	Yes	-			
	Mr. Johnny McClellan	Absent	-			
	Mr. Paul Moore, Jr.	Absent	-			
	Ms. Sharnell S. Morgan	Absent	•			
	Ms. Elysa Sanchez	Yes	-			
	Mrs. Ethel Seymore	Yes	-			
	Mrs. Carla Thomas	Yes	-			
	Mr. Lawrence A. Davenport	Yes	-			
	MOTION PASSED		-			

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Auditorium REGULAR BOARD WORKSHOP/ACTION MEETING October 13, 2015

6:10 P.M. Finance MINUTES

- Approval of the Bill List for September 22, 2015 Warrant Account in the amount \$ 1,652,789.69. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of the Bill List for October 13, 2015 Warrant Account in the amount \$4,083,678.10. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of **September 11, 2015** Payroll and Board Share of FICA/Medicare in the amount of \$ 2,248,566.70. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of **September 25, 2015** Payroll and Board Share of FICA/Medicare in the amount of \$ 2,174,841.16. The payments have been reviewed by the Business Administrator/Board Secretary.
- 5. Approval of the Transfers for Fund 11 account ending August 31, 2015 in the amount of \$ 20,000.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.
- 6. Approval of the Transfers for Fund 15 account ending August 31, 2015 in the amount of \$4,500.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.
- 7. Certification of No Over Expenditures
 - Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of August 31, 2015, no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.
- Acceptance of the Treasurer and Secretary Reports for the month ending August 31, 2015. The Treasurer of School
 Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month
 ending August 31, 2015.
- 9. **Be It Resolved**, that the Pleasantville Board of Education approves the 2015-2016 Annual Review and Approval of the "Uniform State Memorandum of Agreement Between Education and Law Enforcement Officials" from New Jersey Department of Education.
- Resolution for the Pleasantville Board of Education to approve the solicitation of competitive contracting for Before/After Care services in pursuant to Public School Contracts Law N.J.S.A. 18A:18A-4.1b(1) for the 2015-2016 school year.

11. Whereas, the Pleasantville Board of Education advertised for competitive contracting (Bid# CC 15-02) the Before/After Care services 2015-2016 school year in the Press of Atlantic City on September 11, 2015 and

Whereas, the Pleasantville Board of Education received no Bids for the October 9, 2015; so

Therefore, Be It Resolved that the Pleasantville Board of Education will re-advertise for Competitive Contracting as Bid# CC15-02 (a) Before/After Care services for the 2015-2016 school year.

12. Whereas, the Pleasantville Board of Education advertised for competitive contracting (Bid# CC 15-01) School Based Youth Services for the 2015-2016 school year in the Press of Atlantic City on July 16, 2015 and

Whereas, the Pleasantville Board of Education received no Bids for the August 13, 2015; and

Whereas, the Pleasantville Board of Education re-advertised for Competitive Contracting as Bid# CC15-01 (a) School Based Youth Services in the Press of Atlantic City on August 15, 2015; and

Whereas, the Pleasantville Board of Education received no Bids for the September 16, 2015; so

Therefore, Be It Resolved that the Pleasantville Board of Education received no bids on both occasions in response to the advertisement Public School Contracts Law N.J.S.A.18A:18A-5 (c).

13. Whereas, Pleasantville Board of Education advertised PPS 15-36 in the Press of Atlantic City for Security Cameras on August 13, 2015; and

Whereas, the Pleasantville Board of Education received (1) one PPS 15-36 of which was from Atlantic Coast Alarm, Inc. and conducted the advertised Opening on August 27, 2015 as advertised; so

Therefore, **Be It Resolved** that the Pleasantville Board of Education award PPS 15-36 to Atlantic Coast Alarm, Inc. for the 2015-2016 fiscal school year. Amount not to exceed \$50,800.00. Account #11-000-261-420-0000-353.

14. Approval of the Pleasantville Board of Education to reject Bid# 15-37 Security Uniform submitted by Action Uniform Co., LLC according to Public School Contracts Law N.J.S.A. 18A:18A-2 (y) "nonresponsive".

Background

The Bid# 15-37 for Security Uniforms was advertised in the Press of Atlantic City on September 14, 2015 and the Bid Opening was conducted on September 29, 2015 of which one bid was received by Action Uniform Co., LLC; and under N.J.S.A. 18A:18A-2 (y) the Pleasantville Board of Education is rejecting bids under this statue.

- 15. Therefore, Be It Resolved that the Pleasantville Board of Education authorizes Garrison Architects and Remington & Vernick to prepare the necessary NJDOE other capital project application for the demolition of 16 West Leeds Avenue and 209 West Washington Avenue buildings. The district acknowledges that it will receive no state aid for these projects and further authorizes Garrison Architects to amend it approved LRFP to include these projects.
- Resolution to accept the award for the FY 2015 IDEA Preschool and Basic Awards: Basic \$1,108,736.00 & Preschool \$27,006.00 Project period July 1, 2015 through June 30, 2016

Background:

Individuals with Disabilities Education Act (IDEA) Part B (Section 611) Individuals with Disabilities Education Act (IDEA) Preschool (Section 619)

Purpose The Individuals with Disabilities Education Act (IDEA) was reauthorized and signed into law in December 2004

The application is composed of three sections. The general/common (consolidated) section contains federal and state requirements applicable to both the Part B (Basic) and the Preschool IDEA sections. Embedded in the IDEA are principles of stronger accountability for results, increased flexibility and local control, expanded options for parents and an emphasis on teaching methods that have been proven to work. The combined application allows local education agencies the opportunity to address the needs of all students, plan activities for parents and teachers, combine resources, and track results in a single application process.

Legislation and Guidance Public Law 108-446, Individuals with Disabilities Education Improvement Act of 2004.

17. **Resolution** to accept the award for the FY 2016 NCLB Application

NCLB Title I Part A

\$1,607,749.00

NCLB Title II A

\$161,708.00

NCLB Title III

\$157,547.00

NCLB Title III Immigrant

\$41,450.00

Project period July 1, 2015 through June 30, 2016

Background

The No Child Left Behind Act of 2001 (NCLB), a reauthorization of the Elementary and Secondary Education Act (ESEA)/Improving America's Schools Act (IASA), was signed into law on January 8, 2002. NCLB continues many of the goals set forth in IASA and incorporates additional principles and strategies for strengthening the pre K-12 academic environment. The measures included in NCLB require the following: 1) increased accountability for all responsible authorities - states, school districts, and schools; 2) greater school choice for parents whose children are attending low-performing schools; 3) more flexibility for states and LEAs in their use of federal education funds; and 4) a focus of resources on proven educational methods, particularly relating to early reading programs.

18. **Resolution** to accept the award for the 21st Century Community Learning Center Grant in the amount of \$425,000.00. (SEPTEMBER 1, 2015 THROUGH AUGUST 31, 2016 – YEAR 2 OF 5).

Background

The 21st Century Community Learning Centers Competitive Grant offers academic remediation and enrichment activities in tandem with a broad array of other enrichment activities in the areas of arts and culture, your development, and physical activity to students and their adult family members when school in is not in session. The purpose of the 21st CCLC program is to supplement the education of students in grades 4th through 12th, who attend schools eligible for Title I schoolwide programs. The initial award year will be September 1, 2014 through August 31, 2015, the five year grand program will end August 31, 2019.

19. Approval of the *October 13, 2015* Facilities Usage Report.

20. **Resolution to approve** the following to approve the following Pleasantville Students Out of District Placements for (ESY) Extended School Year 2014-2015 (fiscal year of 2015-2016) and Resolution to approve the Out of District Placements for 2015-2016 Special Education School Year.

Student ID# State ID#	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
12697148 1223138494	Bancroft	July 6, 2015- June 30, 2016	2015 ESY and 2015- 2016 Tuition	\$58,664.64	Continuing	9 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
11506154 9092522506	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	9 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
11506154 9092522506	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	1:1 AIDE SERVICES	Per Diem Rate - \$185.71 Total Cost - \$33,427.80	Continuing	9 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
1695034 5471837155	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	11 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
1695034 5471837155	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	1:1 AIDE SERVICES	Per Diem Rate - \$185.71 Total Cost - \$33,427.80	Continuing	11 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
11248618 3251090449	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	10 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
3086023 9007306185	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	11 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400

Student ID# State ID#	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
1795032 4296317038	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	11 th	110001005660000400 general ed. student
1780181 5376801304	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	10 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400
11398842 1627049541	Y.A.L.E. School East	September 9,2015 June 30, 2016 (180 Days)	Education Tuition	Per Diem Rate - \$275.83 Total Cost - \$49,649.40	Continuing	10 th	20-250-100-500-0000- 400 11-000-100-566-0000- 400

Student ID# State ID#	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
BD = (1) 1995100 / 9818709863 Correction ID# Previously Board Approved 9/22/15	Atlantic County Special Services	September 1, 2015 June 30, 2016	Tuition Educational	\$45,540.00 cost per student Not to Exceed \$45,540.00	Continuing	9тн	11-000-100-565-0000- 400
MD = (1) 12980335/ 7806720306 Correction ID# Previously Board Approved 9/22/15	Atlantic County Special Services	September 1, 2015 June 30, 2016	Tuition Educational	\$38,880.00 cost per student Not to Exceed \$38,880.00	Continuing	5 ^{тн}	11-000-100-565-0000- 400

21. Resolution to approve ITINERANT / SHARED SERVICES Agreement between PLEASANTVILLE BOARD OF EDUCATION ("the Local District"). IN THE COUNTY OF ATLANTIC AND THE CAPE MAY COUNTY SPECIAL SERVICES SCHOOL DISTRICT ("CMCSSSD") IN THE COUNTY OF CAPE MAY. The term of this Agreement shall be effective July 1, 2015 and shall continue through June 30, 2016.

Child	Study	Team	Services:	
UIIIIU	Juuv	ı Çallı	JUIVICES.	

Psychological counseling	\$50.00	p/half	\$90.00 p/h
Social Work	\$50.00	p/half	\$90.00 p/h
Conference Counseling – IEP, Identification, Eligibility	\$50.00	p/half	\$90.00 p/h

Per Diem CST services (minimum 4 hours) \$400.00 per diem

(inclusive of meetings and evaluations)

Child Study Team Evaluations

Learning Evaluations\$350.00 per eval.Psychological Evaluations\$350.00 per eval.Social History\$350.00 per eval.Augmentative Evaluation\$550.00 per eval.

Conferences: \$100.00 per participant/per hour

CST Case management \$75.00 per hour Teacher/Guidance \$40.00 per hour

One-to-One Nurse:

LPN	\$225.00 per day
RN	\$290.00 per day
Transportation to and from School LPN	\$45.00 per hour
Transportation to and from School RN	\$45.00 per hour

Interpreter

American Sign Language \$65.00 per hour Certified (NJDDHH) \$50.00 per hour Non-Certified \$50.00 per hour

Spanish

Specialty Clinics:

Neurological \$495.00 per eval.
Psychiatric \$495.00 per eval.

Counseling:

Social Worker \$95.00 per hour Psychologist \$95.00 per hour

Special Education Administrator

Homebound Instruction – CMCSSSD – Students only \$45.00 per hour

In-service \$150.00 per hour Consultation and support services \$105.00 per hour

Occupational Therapy Evaluation \$350.00 per eval.
Physical Therapy Evaluation \$350.00 per eval.
Speech / Therapy Evaluation \$350.00 per eval.

 Occupational Therapy
 \$70.00 p/half
 \$105.00 p/h

 Physical Therapy
 \$70.00 p/half
 \$105.00 p/h

 Speech / Language Therapy
 \$85.00 p/half
 \$105.00 p/h

22. Resolution to approve the State of New Jersey, Department of Human Services, Commission for the Blind and Visually Impaired Services contract effective September 1, 2015 – June 30, 2016. Contract Level of Service for the following student O.D. ID# 13160381/2768489364, Not to Exceed \$1,900.00 Account # 11-000-216-320-0000-400

Motion to approve Finance Agenda Items 1-22.

MOTION BY: Ms. Elysa Sanch	ez	SECOND BY:	Mrs. Carla Thomas	Yea: <u>X</u>
ROLL CALL: Ms. Bernice (Sandy) Couch	Yes			
Ms. Silvia Landron	Yes			
Mr. Johnny McClellan	Present			
Mr. Paul Moore, Jr.	Yes			
Ms. Sharnell S. Morgan	No			
Ms. Elysa Sanchez	Yes			
Mrs. Ethel Seymore	Yes			
Ms. Carla Thomas	Yes; Rec	use Self to #20		
Mr. Lawrence A. Davenport	Yes			
MOTION PASSED				

PLEASANTVILLE BOARD OF EDUCATION

Pleasantville High School/701 Mill Road/Auditorium HUMAN RESOURCES AGENDA ITEMS

Board Workshop/Action Meeting Tuesday, October 13, 2015

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. New Hires (Pending Criminal History Clearance):

Name	Position	Location	Effective Date	Salary	Funding Source
Nina Corbitt	Bus Aide (Part-time)	Transportation	October 14, 2015 – June 30, 2016	\$13.87 per hour	11-000-270-107-0000-352
Frankie Davis	Teacher	SMSS	October 14, 2015 – June 30, 2016	\$52,875.00 (BA/ Step 1)	15-213-100-101-0000-095 (Crista Fopeano)
Wayne Dawkins	Bus Driver (Part-time)	Transportation	October 14, 2015 – June 30, 2016	\$16.44 per hour	11-000-270-160-0000-352
Danyelle Edwards	Teacher	LAS	October 14, 2015 – June 30, 2016	\$55,890.00 (MA/ Step 3)	15-213-100-101-0000-080 (Nikki Smith)
Amanda Fowler	Teacher	PHS	October 14, 2015 – June 30, 2016	\$52,875.00 (BA/ Step 1)	15-140-100-101-0000-050 (William Salmons)
Kristina Fox	Bus Aide (Part-time)	Transportation	October 14, 2015 – June 30, 2016	\$13.87 per hour	11-000-270-107-0000-352
Jillian Hunt	Teacher	SMSS	October 14, 2015 – June 30, 2016	\$53,087.00 (BA/ Step 2)	15-240-100-101-0000-095 (New Position)
Jacque Johnson	Community Parent Involvement Specialist	ECH	October 14, 2015 – June 30, 2016	\$45,700.00 \$45,000.00 +\$700.00 Longevity	20-218-200-173-0000-234 2015-2016 Preschool (Elizabeth Flores)
Anna Lazos	Teacher	PHS	October 14, 2015 – June 30, 2016	\$55,466.00 (MA/ Step 1)	15-213-100-101-0000-050 (Lisa Betty)
Yvonne Lewis	Bus Aide (Part-time)	Transportation	October 14, 2015 - June 30, 2016	\$13.87 per hour	11-000-270-107-0000-352
Timothy Mack	Teacher (JROTC)	PHS	December 1, 2015 – June 30, 2016	\$60,195.00 (BA+15/ Step 12) 9 years of teaching experience + 3 years of military	20-459-100-101-0000-547 (Larry White)
Serena Rateb	Teacher	MSP	October 14, 2015 – June 30, 2016	\$55,009.00 (BA+15 / Step 7)	15-213-100-101-0000-055 (Marsha Henry)
Ozelm Sahingoz	Bus Aide (Part-time)	Transportation	October 14, 2015 – June 30, 2016	\$13.87 per hour	11-000-270-107-0000-352

2. ADMINISTRATIVE APPOINTMENTS:

Name	Position	Location	Effective Date	Salary	Funding Source
Karen Uqdah	Secretary	LAS	October 14, 2015 – June 30, 2016	\$31,036.00 (C2/ Step 3)	15-000-240-105-0000-080 (Leave of Absence)
Daile Dixon-White	Assistant Business Administrator	Business Office	October 14, 2015 – June 30, 2016	\$98,000 (pro-rated)	11-000-251-105-0000-351

3. SUBSTITUTE STAFF (PENDING CRIMINAL HISTORY CLEARANCE) ON AS NEEDED BASIS:

Name	Position	Location	Effective Date	Salary	Funding Source
Shakimah Anderson	Substitute Secretary	District	October 14, 2015 – June 30, 2016	\$85.00 per day	15-000-240-105-0000-050 15-000-240-105-0000-055 15-000-240-105-0000-060 15-000-240-105-0000-080 15-000-240-105-0000-085 15-000-240-105-0000-095
Victoria Lyles	Substitute Secretary	District	October 14, 2015 – June 30, 2016	\$85.00 per day	15-000-240-105-0000-050 15-000-240-105-0000-055 15-000-240-105-0000-060 15-000-240-105-0000-080 15-000-240-105-0000-085 15-000-240-105-0000-095

4. RE-APPOINTMENT OF BUS AIDES FOR THE 2015-2016 SCHOOL YEAR:

Name	Position	Location	Effective Date	Salary	Funding Source
Donna Lyons	Bus Aide (Part-time)	Transportation	October 14, 2015 – June 30, 2016	\$13.50 per hr.	11-000-270-107-0000-352
Victoria Lyles	Bus Aide (Part-time)	Transportation	October 14, 2015 – June 30, 2016	\$13.50 per hr.	11-000-270-107-0000-352

5. RESIGNATIONS:

Name	Position	Location	Effective Date	Salary	Funding Source
Lisa Betty	Teacher	PHS	November 16, 2015 (will be held up to 60 days at the Superintendent's discretion)	N/A	N/A
William Salmons	Teacher	PHS	September 27, 2015 (will be held up to 60 days at the Superintendent's discretion)	N/A	N/A

6. STAFF TRANSFERS:

Name	Position	Location	Effective Date	Salary	Funding Source
Juan Rodriguez	Instructional Aide	PHS to NMSS	September 23, 2015 – June 30, 2016	N/A	15-204-100-106-0000-085
Marlene Parkes	Instructional Aide	SMSS to LAS	September 23, 2015 – June 30, 2016	N/A	15-204-100-106-0000-095

7. FMLA LEAVE WITH PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

CONTRIBUTIO									
Name	Position	Location	Effective Date	Salary	Funding Source				
Denita Bunch	Secretary Human September 21, 2015 – Resources June 30, 2016 (Intermittent)		•	N/A	N/A				
Tanya Burgess	Payroll Clerk Business August 11, 2015 – N Office June 30, 2016		Office June 30, 2016		Office June 30, 2016	N/A			
Angela Davis	Teacher	MSP			N/A				
Andrea Hindelang	Teacher	LAS	September 10, 2015 – June 30, 2016	N/A	N/A				
Robert Hopkins	Custodian	LAS	November 4, 2015 – June 30, 2016	N/A	N/A				
Rayna Iddinn	Secretary	MSP	September 8, 2015 – June 30, 2016	N/A	N/A				
Myriam Morales	Secretary	Student Service	September 11, 2015 – June 30, 2016 (Intermittent)	N/A	N/A				
Briggitte White	Principal	C&I	September 29, 2015 – October 31, 2015	N/A	N/A				

8. FMLA LEAVE WITHOUT PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Shina Howerton-Tiller	Teacher	SMSS	August 12, 2015 - June 30, 2016 (Intermittent/Family)	N/A	N/A
Candy Wesley	Teacher	WAS	September 25, 2015 – June 30, 2016 (Intermittent/ Family)	N/A	N/A

9. A-2 CONTRACTS (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Activity/Club	Location	Effective Date	Salary	Funding Source
Renee Gensamer	Drama	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Rose Giunta	Choir	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060

Name	Activity/Club	Location	Effective Date	Salary	Funding Source
Hazle Potter-Lelli	Fitness	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Sharon Tommi	Environmental	WAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-060
Faith Penrose	Environmental	WAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-060
Jean Hovey	Swim	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Michelle Stevenson	Swim	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Tara Esposito	Art	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Tara Esposito	Yearbook	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Eddie Morgan	Band	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Janeth Jaramillo	Multicultural	WAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-060
Rosa Aponte	Multicultural	WAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-060
Christina Favre	Mathletes	WAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-060
Sandra Rosales	Bus Monitor	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Sandra Torres	Bus Monitor	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Nelson Cavalier	Bus Monitor	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Sylvia Stephens	Bowling Club	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-060
Susana Faulhaber	Renaissance Advisor	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
San Juana Parmer	Climate Advisor	WAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Allison Cordivari	Mathletes Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Candace Briggs	Renaissance Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Nancy Wiesenfeld	Renaissance Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Barbara Mason	Girls Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Bruce Harper	Boys Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Candace Briggs	Dance Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Christina Gras	Stem Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080

Name	Activity/Club	Location	Effective Date	Salary	Funding Source
Christine Grabowski	Book Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
David Carrington	Fitness Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Hassan Abdur Raheem	Choir Club	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Judith Khullar	Geography Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Katherine Watson	Student Council Club	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Martha Wisenbaker	Climate & Culture	LAS	October 14, 2015 – June 30, 2016	\$576.00 (1/3 Stipend)	15-401-100-100-0000-080
Marshella Cass	Climate & Culture	LAS	October 14, 2015 – June 30, 2016	\$576.00 (1/3 Stipend)	15-401-100-100-0000-080
Patricia Barnard	Climate & Culture	LAS	October 14, 2015 – June 30, 2016	\$576.00 (1/3 Stipend)	15-401-100-100-0000-080
Mary Lenahan	Environmental Club	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Patricia Barnard	Swim Club	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Patricia Davis	Reading Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Ronald Fogg	Boys Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Shannon Rothman	Math Club	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Syretta Primas	Kids In The Kitchen	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Tamar LaSure-Owens	Drama/Reader's Theater	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Tamara Misa	LAS Writing Club	LAS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-080
Mary Low	Swim Club	LAS	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-080
Janelle Robinson	Club Coordinator	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Elise Thompson	Drama Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Debra Battle	Drama Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Shawna Coles	Drama Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Renee DeSanto	Drama Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Torrey Wilkerson	Art Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Renee DeSanto	Art Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055

Name	Activity/Club	Location	Effective Date	Salary	Funding Source
Michael LaTorre	Science Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Shawna Coles	Oratorical Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Kathy Syvarth	Intermediate Band	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Kelly Morgan	Yearbook Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Allison Daub	Library / Media Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Elise Thompson	Dance Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Elizabeth Hurley	Robotics / Sea Perch	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Regina Tronu	Robotics / Sea Perch	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Kathy Syvarth	Band	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Aaron Washington	Multi-Media Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Sandra Strazzeri	Multi-Cultural Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Janelle Robinson	Renaissance Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Ninette Phillips	Student Council	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Irvin Marable	Indoor Track	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Regina Tronu	Eighth Grade Advisor	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Kelly Morgan	Eighth Grade Advisor	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Joseph Lewis	Computer Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Joseph Manetta	Computer Club	MSP	October 14, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-055
Marion Derr	Bus Monitor	NMSS	October 16, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-085
Jayne Dempsey	Bus Monitor	NMSS	October 16, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-085
Paulette Taylor	Dance Club	NMSS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-085
Leisa Watson	Dance Club	NMSS	October 14, 2015 – June 30, 2016	\$864.00 (1/2 Stipend)	15-401-100-100-0000-085

10. A-2 CONTRACT FROM THE 2014-2015 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Activity/Club	Location	Effective Date	Salary	Funding Source
Donna Lippincott- McGoldrick	PHS Café (Prior to transfer Ms. McGoldrick was the advisor for the activity)	PHS	September 1, 2014 – January 31, 2015	\$864.00 (1/2 Stipend)	15-401-100-100-0000-050

11. SALARY ADJUSTMENTS: PURSUANT TO COLLECTIVE BARGAINING AGREEMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Sean Dawson	Custodian	ECH	July 1, 2015 – June 30, 2016	\$30,760.00 (Step 7) to \$31,874.00 (Step 8)	20-218-200-110-0000-234 (2015-2016 Preschool)

12. Non-Union Salaries for 2015-2016 School Year ***Board Approved 9-15-15 Salary Correction Only***

Name	Position	Location	Effective Date	Salary	Funding Source
James Falkowski	Maintenance Foreman	Facilities	July 1, 2015 – June 30, 2016	\$73,723.00 \$ 71,459.00	11-000-251-105-0000-351

^{***}The salary approved on the September 15, 2015 Board agenda was not correct; another staff member's salary was inadvertently added. All non-union staff members earning \$50,000 - \$99,999 received a 2.5% increase (Mr. Falkowski current salary is \$71,925.00) ***

13. VOLUNTEER (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Position	Location	Effective Date	Salary	Funding Source
Jonathan Diego	Volunteer	NMSS	October 14, 2015 -	N/A	N/A16.
	(Classroom)		June 30, 2016		

14. MSP LITERACY COMMITTEE:

Name	Position	Location	Effective Date	Salary	Funding source
Andrea Merline	8th Grade ELA Teacher	MSP	November 1, 2015 - June 15, 2016	\$30 per hour for 20 hours not to exceed \$600	20-231-100-100-0000-545 (2015-2016 Title 1 SIP)
Jeanine Doms	7 th Grade ELA Teacher	MSP	November 1, 2015 - June 15, 2016	\$30 per hour for 20 hours not to exceed \$600	20-231-100-100-0000-545 (2015-2016 Title 1 SIP)
Kathy Russo	6th Grade ELA Teacher	MSP	November 1, 2015 - June 15, 2016	\$30 per hour for 20 hours not to exceed \$600	20-231-100-100-0000-545 (2015-2016 Title 1 SIP)
Cynthia Rios	Bilingual Teacher	MSP	November 1, 2015 - June 15, 2016	\$30 per hour for 20 hours not to exceed \$600	20-231-100-100-0000-545 (2015-2016 Title 1 SIP)
Christine Teeney	ELA Coach	MSP	November 1, 2015 - June 15, 2016	\$30 per hour for 20 hours not to exceed \$600	20-231-100-100-0000-545 (2015-2016 Title 1 SIP)
Michelle Ferretti	Special Education Teacher	MSP	November 1, 2015 - June 15, 2016	\$30 per hour for 20 hours not to exceed \$600	20-231-100-100-0000-545 (2015-2016 Title I SIP)

15. MSP - SCHOOL IMPROVEMENT PANEL (SCIP) FOR THE 2015-2016 SCHOOL YEAR:

Name	Position	Location	Effective Date	Salary	Funding Source
Stephen L. Townsend	Principal	MSP	October 19, 2015-	N/A	N/A
			June 30, 2016		
Rayna Hendricks	Asst. Principal	MSP	October 19, 2015-	N/A	N/A
			June 30, 2016		
Andrea Akins Turner	Asst. Principal	MSP	October 19, 2015-	N/A	N/A
			June 30, 2016		
Darryl Ramsey	Academic Coach	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
	(Math)		June 30, 2016	20 hours not to	
				exceed \$600.00	
Christine Teeney	Academic Coach	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
	(ELA)		June 30, 2016	20 hours not to	
				exceed \$600.00	
Latanya Elias	Teacher	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
			June 30, 2016	20 hours not to	
				exceed \$600.00	
Elizabeth Hurley	Teacher	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
			June 30, 2016	20 hours not to	
				exceed \$600.00	
Janelle Robinson	Teacher	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
			June 30, 2016	20 hours not to	
				exceed \$600.00	
Ericka Boehm	Teacher	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
			June 30, 2016	20 hours not to	
				exceed \$600.00	
Janet Bravo	Teacher	MSP	October 19, 2015-	\$30 per hour for	15-000-240-104-0000-055
			June 30, 2016	20 hours not to	
				exceed \$600.00	

16. MSP – A-2 CONTRACTS FOR POSITIVE BEHAVIOR SUPPORT INTERVENTION SYSTEMS (PBIS) COMMITTEE: **BOARD APPROVED ON AUGUST 18, 2015 HR AGENDA ITEM #20; REVISED EFFECTIVE DATE**

Name	Position	Location	Effective Date	Salary	Funding Source
Latanya Elias	Teacher	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
-			June 30, 2016		(2015-2016 Title 1 SIP)
Danielle Percy	Teacher	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
			June 30, 2016		(2015-2016 Title 1 SIP)
Luraine Randall	Guidance	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
	Counselor		June 30, 2016		(2015-2016 Title 1 SIP)
Mary Gillespie	SAC	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
			June 30, 2016		(2015-2016 Title 1 SIP)
Ann Kopke	Social Worker	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
			June 30, 2016	1.	(2015-2016 Title 1 SIP)
Brenda Tucker	Security Guard	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
			June 30, 2016		(2015-2016 Title 1 SIP)
Jeanette Reed	Teacher	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
			June 30, 2016		(2015-2016 Title 1 SIP)
Monica White	Secretary	MSP	September 1, 2015 –	\$1728.00	20-231-200-100-0000-545
			June 30, 2016		(2015-2016 Title 1 SIP)

Name	Position	Location	Effective Date	Salary	Funding Source
Michael LaTorre	Teacher	MSP	September 1, 2015 – June 30, 2016	\$1728.00	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Frank Cambron	Social Worker	MSP	September 1, 2015 – June 30, 2016	\$1728.00	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)

17. Resolution to approve revision to the account number for the C.A.R.E. staff re-appointed in the following positions for the 2015-2016 school year: site coordinator aides, instructor aides, teacher/tutors, substitute teacher/tutors, instructors and trip site coordinator aides. The staff was Board approved on August 18, 2015 HR Item# 25. The account number will be revised from 20-290-200-100-0000-545 to 20-290-100-100-0000-545 (2015-2016 21st CCLC).

18. ADULT EDUCATION PROGRAM 2015-2016 SCHOOL YEAR***BOARD APPROVED ON AUGUST 18, 2015 HR
AGENDA ITEM #5: REVISED ACCOUNT NUMBER ONLY***

Name	Position	Location	Effective Date	Salary	Funding Source
Myriam Morales	Secretary/Aide	District	September 3, 2015 – June 30, 2016	\$30.00 per hour	13-602-100-104-0000-265 20-619-100-101-0000-265
Felicia Hyman-Medley	Substitute Administrator	District	September 3, 2015 – June 30, 2016	\$60.00 per hour	13-602-100-100-0000-265 20-619-100-101-0000-265
Nanette Stuart-Pitts	Substitute Administrator	District	September 3, 2015 – June 30, 2016	\$60.00 per hour	13-602-100-100-0000-265 20-619-100-101-0000-265
Sherry Spence-Leslie	Substitute Administrator	District	September 3, 2015 – June 30, 2016	\$60.00 per hour	13-602-100-100-0000-265 20-619-100-101-0000-265

19. ATHLETIC CONTEST HELP:

Name	Position	Location	Effective Date	Salary/ Stipend	Funding Source
Lloyd Athill	Athletic Contest Help	PHS/MSP	October 14, 2015 – June 30, 2016	Football \$60/day Volleyball \$40/day Basketball \$34/game Soccer \$40/day	15-402-100-100-0000-050 15-402-100-100-0000-055
Marian Battle	Athletic Contest Help	PHS/MSP	October 14, 2015 – June 30, 2016	Football \$60/day Volleyball \$40/day Basketball \$34/game Soccer \$40/day	15-402-100-100-0000-050 15-402-100-100-0000-055
Tia Hill	Athletic Contest Help	PHS/MSP	October 14, 2015 – June 30, 2016	Football \$60/day Volleyball \$40/day Basketball \$34/game Soccer \$40/day	15-402-100-100-0000-050 15-402-100-100-0000-055
Rene Nurse	Athletic Contest Help	PHS/MSP	October 14, 2015 – June 30, 2016	Football \$60/day Volleyball \$40/day Basketball \$34/game Soccer \$40/day	15-402-100-100-0000-050 15-402-100-100-0000-055

20. Resolution to approve the Job Description and Job Title for the following positions: Art Teacher, Assistant Superintendent, Athletic Coach, Bilingual, ESL Teacher, Dean of Students, Department Chair, Elementary Teacher, Health and Physical Education Teacher, Librarian/Media Specialist, , Master Teacher Early Childhood, Music Teacher, Preschool Intervention and Referral Team (PIRT) Specialist, Pre-K Teacher, Secondary Teacher, and Special Education Teacher and Athletic Trainer.

21. C.A.R.E. STAFF RE-ASSIGNMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Vernon Beard	Interim Data Entry Coordinator	PHS MSP LAS NMSS WAS SMSS	September 16, 2015 – January 22, 2016	\$41,804.00 contractual salary + \$4,500.00 stipend (\$75.00 per day x 5 days = \$375.00 per week for 12 weeks)	20-290-200-100-0000-545 (2015-2016 21st CCLC)
Quana Barnes	Site Coordinator	SMSS	September 28, 2015 – June 30, 2016	\$20.00 per hour not to exceed 800 hours or \$16,000.00	20-290-200-100-0000-545 (2015-2016 21st CCLC)

22. Resolution to approve Dr. Basilyn Bunting to receive payment for service provided for 2015 PHS summer S.T.E.M. Program. Courses ran for three (3) weeks and focused on science, technology, engineering, and mathematics and a two week course focused on S.T.E.M. robotics with Dr. Bunting, who taught 30-35 students for 2 weeks not to exceed \$4,800.00 Funding Source #15-100-100-0000-050.Note: Dr. Basilyn Bunting was already board approved on June 29, 2015 Board Meeting with incorrect amount and account number

23. PHS-Gradpoint/After School Tutoring/ ESL Tutoring/ Academic Coaching Tutoring (Athletic): (Pending Criminal History Clearance) On a Rotating Basis/Based on Student Attendance 12:1 Ratio. Total project not to exceed \$42,120.00

	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		1 - m / m - /	1	
Name	Position	Location	Effective Date	Salary	Funding Source
Josephine Troy	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Nicole McNeal	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Catherine Stanley	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Sara Bailey	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Daniel Emmert	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050

Russell Weems	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Brittany Wallace	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Lindsey Marchesani	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Merin Willy	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Griselda Tabora	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Diomedes Martinez	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
James Hutton	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Elizabeth Dubose	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Susan Johnston	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Tracy Boswell	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Kelsey Shockley	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Catherine Stanley	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2	15-401-100-100-0000-050

				hours	
Constance Days	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Garrow Kerr	Teacher	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 2 hours	15-401-100-100-0000-050
Michael Pilate	Coordinator	PHS	October 21, 2015-June 30, 2016	\$45.00 per hour for 1 hour	15-401-100-100-0000-050

MOTION BY:	SECOND BY:	_ Yea: Nay:
ROLL CALL: Ms. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan		
Ms. Elysa Sanchez Mrs. Ethel Seymore		,
Ms. Carla Thomas Mr. Lawrence A. Davenport		
zamana na batanpan		

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Auditorium REGULAR BOARD WORKSHOP MEETING Tuesday, October 13, 2015 6:10 P.M. CURRICULUM & INSTRUCTION MINUTES

The Superintendent of Schools recommends adoption of the following:

RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

1. WORKSHOP/CONFERENCE ATTENDANCE: (ALL TRAVEL REIMBURSEMENT SUCH AS: MILEAGE, TOLLS AND PARKING MUST HAVE RECEIPTS)

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Arthur Susan	WAS	Supporting Children & Families Conference Stockton	12/02/15	\$ 30.00 Registration	15-000-218-500-0000-060
Bailey Norine RN	NMSS	Kitchen Essentials AC High School	10/21/15	\$ 0.00	N/A
Bear Vernon	C.A.R.E.	NJ Annual Conference for After School Conferences Princeton, NJ	11/1315 11/14/15	\$ 273.00 Registration \$ 61.69 Mileage \$ 136.85 Lodging	20-290-200-500-0000-545
Briggs Candace	LAS	Supporting Youth With Autism and Asperger's Mercerville, NJ	10/21/15	\$ 0.00	N/A
Butterhof Jillian	SMSS	Using PARCC Data to inform the curriculum, Instructions and Assessment cycle. Galloway, NJ	10/22/15	7 ETTC Hours	ETTC Account
Cunningham Tatiana	SMSS	Using PARCC Data to inform the curriculum, Instructions and Assessment cycle. Galloway, NJ	10/22/15	7 ETTC Hours	ETTC Account
Daly Michael	LAS	South Jersey Band and Orchestra Director's Meeting Sewell, NJ	10/14/15	\$ 0.00	N/A
Didonato Elizabeth RN	SMSS	Life Threatening Pediatric Emergencies Cherry Hill, NJ Previously BOE approved on 08/18/15 @ no cost. Requesting approval of	09/23/15 Superintendent approved cost 09/22/15	\$ 189.99 Registration \$ 40.01 Mileage \$ 140.00	11-000-219-500-0000-400

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
		registration and mileage cost.		Total	
Gillespie Mary L.	MSP	Function Based Problems Solving for students with repeated behavioral problems PBSIS Mullica Hill, NJ	10/15/15 10/21/15 10/27/15	\$ 0.00	N/A
Gillespie Mary L.	MSP	Atlantic County SAC Meetings Galloway, NJ	12/01/15 02/18/16 04/21/16 06/09/16	\$ 0.00	N/A
Hannigan John	Data	NJ Smart Presentation for Atlantic County	10/08/15 Superintendent Approved 10/07/15	\$ 0.00	N/A
Katzen Stephen	PHS	Hazing, Bullying, and Athletics Galloway, NJ	11/18/15	\$ 178.00	15-000-240-500-0000-050
Katzen Stephen	PHS	Supporting Children and Families Galloway, NJ	12/02/15	\$ 30.00 Registration	15-000-2440-500-0000-050
Keen Denise	NMSS	Media Specialist Symposium Galloway, NJ	10/19/15	\$ 178.00	15-000-223-320-0000-085
Laster Jeffrey	C&I	NJ Smart Presentation for Atlantic County	10/08/15 Superintendent Approved 10/07/15	\$ 0.00	N/A
Marsh William	Facilities	New Jersey School Boards Association Workshop AC, NJ	10/27/15 10/28/15 10/29/15	\$ 250.00 Registration	11-000-262-590-0000-352
Masters David	PHS	Practical Strategies to help students meet mathematical standards Cherry Hill, NJ	10/09/15	\$ 239.00 Registration \$ 34.41 Mileage	15-000-240-500-0000-050
McQueen Deneen	PHS	What is Transition? Sewell, NJ	10/22/15	\$ 0.00	N/A
McQueen Deneen	PHS	Special Education Laws Made Simple AC, NJ	12/09/15	\$ 359.00 Registration	11-000-219-500-0000-400
McQueen Deneen	PHS	Finding The Right Fit In Post- Secondary Resources Vineland, NJ	01/21/16	\$ 0.00	N/A
McQueen Deneen	PHS	Person Centered Planning Voorhees, NJ	05/19/15	\$ 0.00	N/A
Mitchell Steve	Truancy	105th. Annual Truancy and Dropout Prevention Conference Memphis, TN.	10/24/15 10/25/15 10/26/15 10/27/15 10/28/15 10/29/15	\$ 300.00 Registration \$ 645.00 Travel \$ 275.00 Food	11-000-266-800-0000-351

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Stati Metribei	LOCALION	Title of Workshop/Contelence	Date	\$ 675.00	Account #
				1 ' 1	
				Lodging	
		1		\$ 50.00	
				Membership	
				Dues	
				\$ 1,945.00	
				Total	
Morris	NMSS	NJKEA Kindergarten Seminar	12/09/15	\$ 0.00	N/A
Dawn		Clementon, NJ	01/27/16	'	
_ •,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	02/24/16		
			04/21/16		
			04/21/10		
Pilot	PHS	NJ Smart Presentation for	10/08/15	\$ 0.00	N/A
Michael	1110	Atlantic County Personnel	Superintendent	Ψ 0.00	14/71
MICHACI			Approved		
D 1	F00	Galloway, NJ	10/06/15	0.440.04	00 040 000 000 0000 004
Presley	ECC	Positive Behavior Support	10/23/15	\$ 149.94	20-218-200-600-0000-234
Patricia		Training		Mileage	
	ļ	Camden, NJ			
Price	SMSS	Strengthen Your Writing	11/18/15	\$ 219.99	15-000-223-580-0000-095
Leslie		Instruction in Kindergarten:		Registration	
		Practical Strategies That Work		\$ 33.42	
		Cherry Hill, NJ		Mileage	
Taliaferro	WAS	Supporting Children and	12/02/15	\$ 30.00	15-000-213-580-0000-060
Deborah		Families			
		ETTC Center, Galloway NJ			
Saco	PHS	Financial Aide di-mystified	10/21/15	\$ 0.00	N/A
Chris		Galloway, NJ			
Sims	PHS	Implementing an Effective	10/13/15	\$ 149.00	15-000-240-500-0000-050
Angelica		I&RS Program	Superintendent	Registration	
		Mullica Hill, NJ	Approved 10/06/15	\$ 49.70	15-000-240-500-0000-050
		,,	10/00/15	Mileage	
Sinclair	PHS	Joint Institute Athletic Trainers	11/10/15	\$ 0.00	N/A
Kristen		Symposium			
		Mt. Laurel, NJ			
Smith	PHS	Atlantic County Consortium for	11/17/15	\$ 0.00	N/A
Ernestine		The Homeless			
Lindotario		AC, NJ			,
		710,110			
Spence-Leslie	PHS	Implementing an Effective	10/13/15	\$ 149.00	15-000-240-500-0000-050
Sherry		I&RS Program	Superintendent	Registration	
•		Mullica Hill, NJ	Approved 10/06/15	\$ 49.70	15-000-240-500-0000-050
		,	10/00/15	Mileage	
Spence-Leslie	PHS	Special Education Law Made	12/09/15	\$ 349.00	15-000-240-500-0000-050
Sherry		Easy		Registration	.0 000 210 000 000
J.1011 j		AC, NJ	1	/ togioudion	
Stanley	PHS	State Bar Foundation Law	10/21/15	\$ 0.00	N/A
Catherine	1110	Firm/Law Adventure Workshop	10/21/10	ψ 0.00	IN//N
Cathemic		1			
	1	New Brunswick, NJ	<u> </u>		

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Torres	C.A.R.E.	NJ Annual Conference for	11/1315	\$ 273.00	20-290-200-500-0000-545
Carmen		After School Conferences	11/14/15	Registration	
		Princeton, NJ		\$ 61.69	
				Mileage	
				\$ 136.85 Lodging	
Torres	C,A,R,E,	21st. CCLC Project Director	10/27/15	\$ 0.00	N/A
Carmen	O.A.N.L.	Meeting	10/21/10	Ψ 0.00	INIPA
damen		Trenton, NJ			
Tuczak	PHS	Government Purchase Card	09/17/15	\$ 0.00	N/A
Ronald		(GPC) Training	Superintendent	!	
		Ft. Dix, NJ.	Approved 09/16/15		
White	Business	New Jersey School Boards	10/27/15	\$ 250.00	11-000-251-580-0000-351
Daile	Office	Fall Conference	10/28/15	Registration	
		AC NJ	10/29/15	\$ 30.00	
				Parking	
Williamson	SMSS	Developing and Inclusive	02/01/16	\$ 40.00	11-000-219-500-0000-400
Victoria		School Climate		Mileage	
		Mullica Hill, NJ	40/04/45	0.40.00	44 000 040 500 0000 400
Williamson	SMSS	Effective Instructional	10/01/15 Superintendent	\$ 40.00	11-000-219-500-0000-400
Victoria		Strategies	Approved	Mileage	
		Mullica Hill, NJ	09/16/15		
Wilson	NMSS	A Clinical Guide to Advanced	10/05/15	\$ 149.00	11-000-219-500-0000-400
Samantha		Interpretation for School	Superintendent Approved	Registration	
		Phycologist	09/16/15	\$ 40.00	
		Mullica Hill, NJ		Mileage	

2. Activities

Z. ACI	IAIFIGO				
School/Program	Activity	Date	Cost	Account#	Time/Purpose
LAS	South Jersey	March 2016	\$ 50.00	15-000-240-600-0000-080	7:30am-3:00pm
4th. & 5th.	Mathletes	Exact date	Registration		Students will compete
Graders	Competition	TBD	\$ 50.00		with other local school
	•		Lunch		districts.
			\$60.00		
			T-Shirts		
WAS			\$ 50.00	Student Activity Account	
4th, & 5th.			Registration	#0536	
Graders			\$ 50.00		
			Lunch		
			\$60.00		
			T-Shirts		
NMSS			\$ 50.00	Student Activity Account	
4th. & 5th.			Registration	#0539	
Graders			\$ 50.00		
!			Lunch		
			\$60.00		
			T-Shirts		

School/Program	Activity	Date	Cost	Account#	Time/Purpose
SMSS 4 th . & 5 th . Graders			\$ 50.00 Registration \$ 50.00 Lunch \$60.00 T-Shirts	15-190-100-610-0000-095	
LAS 3rd, 4th, & 5th, Graders WAS 3rd, 4th, & 5th, Graders NMSS 3rd, 4th, & 5th, Graders SMSS 3rd, 4th, & 5th, Graders SMSS 3rd, 4th, & 5th, Graders	District Math Bowl	05/19/16	\$ 150.00 Lunch \$ 100.00 Trophy's	15-000-240-600-0000-080	9:00am-1:00pm Students will compete with students from the other district elementary schools
District Elementary Schools	Elementary School Science Fair	06/07/15 06/08/15 06/09/15 06/10/15	\$ 0.00	N/A	9:00am-3:00pm Students will participate in project based learning in science
LAS	Monarch Butterfly Release	09/29/15	\$ 0.00	N/A	10:00am-11:00am Students will release monarchs and sing songs.
WAS	School Safety Patrol	10/21/15	\$ 0.00	N/A	School Safety Patrol throughout the 2015- 2016 school year.
LAS	Meet The Principal	10/14/15	\$ 0.00	N/A	6:00pm-7:00pm Principal Johnson will reach out tour K and 1 ^{ST.} grade parents and guardians to keep them informed
LAS	Meet The Principal	10/28/15	\$ 0.00	N/A	6:00pm-7:00pm Principal Johnson will reach out tour 4th and 5th, grade parents and guardians to keep them informed
LAS	Meet The Principal	10/21/15	\$ 0.00	N/A	6:00pm-7:00pm Principal Johnson will reach out tour 2 nd and 3 rd grade parents and guardians to keep them informed

School/Program	Activity	Date	Cost	Account#	Time/Purpose
LAS	Week of Respect	10/05/15 10/06/15 10/07/15 10/18/15 Superintendent Approved 09/16/15	\$ 0.00	N/A	Daily activities/lessons regarding character education and antibullying.
LAS	Family Reading Night	10/08/15	\$ 300.00 Refreshments	Title I	Parents/Guardians read with their children and enjoy stories that are aligned with the curriculum.
LAS	Hispanic Heritage Program	10/22/15	\$ 0.00	N/A	6:00pm-8:00pm Students will display art work and perform onstage.
MSP	MSP AVID Thursday Guest Speaker	10/29/15	\$ 0.00	N/A	11:45am-1:00pm Expose students to various career fields
MSP	PBSIS Dress Down	10/28/15	\$ 2.00	# 555	Staff and students dress down during Red Ribbon Week to help the campaign against drugs.
MSP	Child Break	10/27/15	\$ 0.00	N/A	10:00am-11:00am Presentation for parents on the dangers of social media, drugs, negative peer relations and how to promote a healthy parents/child interaction.
MSP	MSP Spelling Bee	02/10/16	\$ 158.00	15-000-240-500-0000-055	9:30am-11:00am Determine MSP Spelling bee Champion to advance to the South Jersey Spelling Bee
MSP	Steered Straight Program	10/29/15	\$ 1,200.00	15-190-100-320-0000-055	9:00am-10:30am Presentation that discusses how negative choices can have a devastating impact on your future.
MSP	PBSIS Dress Down for Red Ribbon	10/28/15	\$ 0.00	N/A	Staff and students dress down for one day during red ribbon week.
ECC	Week of Respect Character Education Assemblies by Wincey Co.	10/01/15 1:00pm 10/08/15 2:00pm Rain Date	\$ 1,350.00	20-218-200-600-0000-234	Presentation with student interaction and participation of positive character values.

School/Program	Activity	Date	Cost	Account#	Time/Purpose
		Superintendent Approved 09/22/15			
ECC	Fire Prevention Assembly	10/05/15 Superintendent Approved 09/23/15	\$ 0.00	N/A	The Pleasantville Fire Department will visit the ECC to develop awareness of fire safety and allow children to become comfortable with the presence of firefighters.
ECC	ESL Classes for ECC Parents	10/27/15	\$ 1,012.50 Refreshments	20-218-200-600-0000-234	Tuesday & Thursday 9:00 am-11:00am Parents will learn ESL for interactions with school, employers and healthcare professionals.
ECC	Pre-K Hispanic Celebration 2015 At MSP	11/12/15	\$ 0.00	N/A	9:00am-11:00am Students will display their artistic talents for other students and families.
ECC	Asthma Workshop	10/21/15	\$ 25.00 Refreshments	20-218-200-600-0000-234	Nurse will conduct Asthma/Allergy workshop for parents to learn about student asthma/allergy healthcare.
ECC	Transition to Kindergarten Parent workshop	06/08/16	\$ 0.00	N/A	9:00am & 10:30am- English 1:00am-2:30 pm Spanish
ECC	Flu Shot Vaccinations	10/27/15 12/17/15	\$ 20.00 Refreshments	20-218-200-600-0000-234	2:00pm & 5:00pm 2:00pm & 5:00pm Assist families with pre-k students meet the state vaccination requirement.
ECC	Parent Math & Science Workshop	05/04/16	\$ 0.00	N/A	9:00am & 10:30am English 1:00pm & 2:30 pm Spanish Parents will learn how to incorporate math and science in daily events.
ECC	Parent Art Workshop	03/10/16	\$ 0.00	N/A	9:00am & 10:30am English 1:00pm & 2:30 pm Spanish Parents will learn the critical component of the

School/Program	Activity	Date	Cost	Account#	Time/Purpose
					arts in the creative
ECC	Parent Positive Social/Emotional Interactions workshop	01/13/16	\$ 0.00	N/A	process. 9:00am & 10:30am English 1:00pm & 2:30 pm Spanish Parents will learn to encourage positive
ECC	Parent Tools of The Mind Workshop	11/12/15	\$ 0.00	N/A	social/emotional interactions. 9:00am & 10:30am English 1:00pm & 2:30 pm Spanish Parents will learn about
ECC	Parent Tools of The Mind Workshop	11/20/15	\$ 0.00	N/A	the Pre-k curriculum. 9:00am & 10:30am English 1:00pm & 2:30 pm Spanish Parents will learn about the Pre-k curriculum.
ECC	Harvest Parade	10/30/15	\$ 0.00	N/A	1:00pm-2:30pm Celebration of the Fall Season
ECC	Hispanic Heritage Assembly	11/12/15	\$ 0.00	N/A	Hispanic Heritage Assembly and samples of various foods from the various Hispanic countries.
ECC	Thanksgiving Dinner	11/25/15	\$ 0.00	N/A	11:00am-12:00p Students and families will share a Thanksgiving Meal
ECC	Harvest Festival	10/30/15	\$ 0.00	N/A	9:00am-3:00pm Parents will visit classrooms to celebrate the fall harvest
SMSS	Publish Classroom Books	12/01/15	05/30/16	\$ 0.00	Students will create a classroom book utilizing the writing process to be purchased for \$ 20.00,
SMSS	Gun Safety w/Eddie Eagle Assembly	10/20/15	\$ 0.00	N/A	1:00pm-2:00pm Gun Safety presentation given by the Atlantic County Sheriffs'

School/Program	Activity	Date	Cost	Account#	Time/Purpose
					Department
WAS	Golf Club	10/21/15	\$ 0.00	N/A	Weekly Golf Instruction provided by the AC Boys & Girls Golf Club.
WAS	Physical Education Competition Week	05/24/16	\$ 27.50	Student Activity Fund # 0536	10:00am-1:00pm Skills taught in Physical education are put to the test in a competitive atmosphere.
WAS	Kindergarten Fun Day	06/03/16	\$ 0.00	N/A	9:30am-11:30am Fun Day for Kindergarten Students.
WAS	NJCAP Bullying Prevention Program	12/07/15 12/08/15 12/09/15 12/10/15 12/11/15	\$ 0.00	N/A	Student and Parent anti bullying workshops presented by NJCAP.
WAS	Junior Achievement Program	03/18/16 Tentative Date	\$ 100.00	Student Activity Account # 536	Interactive lessons leading to stronger critical thinking and decision making skills.
LAS	Fall Harvest Hip Hop Dance	10/30/15	LAS	\$ 0.00	6:00pm-8:00pm
LAS	Bilingual Parent Advisory Workshop	11/17/15 01/12/16	\$ 120.00 Refreshments	20-241-200-500-0000-545	
NMSS	Bilingual Parent Advisory Workshop	11/18/15 01/14/16	\$ 120.00 Refreshments	20-241-200-500-0000-545	
SMSS	Bilingual Parent Advisory Workshop	11/19/15 01/20/16	\$ 120.00 Refreshments	20-241-200-500-0000-545	
WAS	Bilingual Parent Advisory Workshop	10/26/15 12/09/15 03/17/16 05/17/16	\$ 180.00 Refreshments	20-241-200-500-0000-545	
MSP & PHS	Bilingual Parent Advisory Workshop	10/28/15 12/18/15 03/19/16 05/19/16	\$ 180.00 Refreshments	20-241-200-500-0000-545	
NMSS	NED Anti- Bullying Program	11/10/15	\$ 0.00	N/A	1:30pm-2:30pm Anti-bullying program
NMSS	Hispanic Heritage Assembly	10/15/15	\$ 300.00 Refreshments	15-000-266-100-0000-085	6:00pm-8:00pm Celebrate the Hispanic Culture with our students, families and staff.

School/Program	Activity	Date	Cost	Account#	Time/Purpose
PHS	Drug & Alcohol Assembly	10/21/15	\$ 0.00	N/A	Increase drug & alcohol awareness
PHS	Marching Band Master Class	10/24/15	\$ 450.00	Student Activity Account # 0531	Marching Band Drills
PHS	Alcove School Outreach Program	10/21/15 through 06/30/16	\$ 0.00	N/A	Grief counseling
PHS	PHS Goes Pink for A Day	10/30/15	\$ 0.00	N/A	Breast Cancer Awareness
PHS	Candy Apple and pretzel sale	11/16/15	\$ 50.00	Class of 217	Raise funds for student activities

3. FUNDRAISERS:

School	Activity	Start Date	End Date	Purpose
ECC	T-Shirt Sale	10/21/15	10/16/15	Raise funds for student activities
ECC	Jean Day for Staff	10/21/15	06/30/15	Staff will wear jeans on Pay day Fridays for \$ 3.00 to raise funds for student activities
ECC	Octoberfest Bake Sale	10/26/15	10/30/15	Raise funds for Student Activities
ECC	Holiday Gift Shop	12/07/15	12/18/15	Raise funds for Student Activities
ECC	Kids for a cure	11/20/15	11/20/15	Raise funds for Juvenile Diabetes Foundation
MSP	PBSIS Fall Community Yard Sale	10/24/15	10/24/15	Raise funds for student incentives
MSP	Dress Down Day	10/22/15	10/22/15	Raise funds for the Hispanic Heritage Celebration
LAS	Fall Harvest Hip Hop Dance	10/30/15	10/30/15	Raise funds for student incentives
LAS	Pong vin Patch Holiday	12/07/2015	12/11/15	Raise funds for student incentives
LAS	Mother's Day Flower Sale	04/02/15	05/16/15	Raise funds for student incentives
PHS	School Spirit Wear	11/02/15	03/31/15	Raise funds for the DECA Membership Dues
PHS	School Spirit Wear	11/02/15	03/31/15	Raise funds for the Newspaper club equipment and supplies
PHS	Sale of Micro Robotics	11/09/15	12/18/15	Raise funds to purchase robotic parts
PHS	PHS Goes Pink	10/30/15	10/30/15	Raise funds for Cancer Research
PHS	Halloween Candy Gram Sale	10/29/15	10/30/15	Raise funds for the Jr Class
PHS	Candy Apple & Pretzel Sale	11/16/15	11/20/15	Raise funds for the Jr. Class
PHS	Monthly student dress up	10/2015	06/2016	Raise funds for student activities
PHS	Rita Water Ice Fundraiser	10/21/15	06/30/15	Raise funds for student activities
PHS	Monthly Jean Day	10/2015	06/2015	Raise funds for student activities

School	Activity	Start Date	End Date	Purpose
	Dress Down Day			
MSP	Hispanic Heritage Committee Dress Down Day	10/22/15	10/22/15	Raise funds for Hispanic Heritage Month Celebration

4. Field Trips

School	Activity	Location	Date	Cost	Account#
WAS	PHS Football Field & Recreation Center 50 Students 8 Chaperones	Pleasantville, NJ	06/02/16	\$ 0.00	N/A
MSP	Edwin Forsythe national Wildlife refuge 50 Students 3 chaperones	Galloway, NJ	10/24/15	\$ 0.00	N/A
MSP	2016 Young Women's Conference 10 Students 1 Chaperone	Princeton, NJ	03/18/16	\$ 0.00	N/A
LAS	NJ State House & Museum 78 Students 14 Chaperones	Trenton, NJ	11/13/15	\$ 0.00	N/A
NMSS	Adventure Aquarium 90 Students 48 Chaperones	Camden, NJ	04/15/16	\$ 3,187.00 Registration \$ 6,000.00 Transportation	20-218-200-516-0000-234
NMSS	Statue of Liberty 45 students 5 Chaperones	NYC	05/26/16	\$ 825.00 Registration \$ 1,065.00 Transportation \$ 225.00 Dinner \$50.00 Gratuity \$ 10.00 Parking	15-000-270-512-0000-085
ECC	Pleasantville Public Library 30 students 7 chaperones	Pleasantville, NJ	10/22/15	\$ 0.00	N/A
ECC	Minos Bakery 45 students 4 chaperones	Pleasantville, NJ	11/10/15	\$ 0.00	N/A
ECC	Minos Bakery	Pleasantville, NJ	11/11/15	\$ 0.00	N/A

School	Activity	Location	Date	Cost	Account#
	30 students 4 chaperones				
ECC	Hispanic Heritage Assembly MSP	11/12/15	\$ 0.00	N/A	9:30AM-11:00 AM Hispanic Heritage Assembly and samples of various foods from the various Hispanic countries.
LAS	Sahi's Father Son Farm 110 Students 17 Chaperones	Galloway, NJ	10/16/15	\$ 660,00 Registration	15-000-270-512-0000-080
LAS	Sahl's Father Son Farm 110 Students 17 Chaperones	Galloway, NJ	11/04/15	\$ 600.00	15-000-270-512-0000-080
LAS	NJ State Museum 78 Students 14 Chaperones	Trenton, NJ	11/13/15	\$ 0.00	N/A
PHS Marching Band	Nissan Infinity & Volvo of Atlantic City 80 Students 4 Chaperones	AC, NJ	10/24/15	\$ 0.00	N/A
PHS	Stockton University Tour 40 Students 4 Chaperones	Galloway, NJ	11/20/15	\$ 0.00	N/A
PHS	Stockton University Tour 30 Students 3 Chaperones	Galloway, NJ	12/02/15	\$ 0.00	N/A
PHS	AC Rescue Mission 11 Students 1 Chaperone	AC, NJ	11/11/15	\$ 0.00	N/A
PHS	AC Superior Court 47 Students 3 Chaperones	Mays Landing, NJ	12/11/15	\$ 0.00	N/A
PHS	Cape Atlantic College Fair 35 Seniors 2 Chaperones	Galloway, NJ	11/20/15	\$ 0.00	N/A
PHS	Citizens Bank Park 37 Students 3 Chaperones	Philadelphia, PA	11/18/15	\$ 320.00 Registration	15-190-100-800-0000-050
PHS	Rowen University Tour 50 Students	Glassboro, NJ	11/19/15	\$ 0.00	N/A

School	Activity	Location	Date	Cost	Account#
	3 Chaperones				
PHS	Malcom Bernard Historically Black Colleges & Universities Tour 35 Seniors 3 Chaperones	Camden, NJ	11/17/15	\$ 0.00	N/A
PHS	Atlantic City National College Fair 35 Students 2 Chaperones	AC, NJ	11/10/15	\$ 0.00	N/A
PHS	Eastern State Penitentiary 49 Students 4 Chaperones	Philadelphia, PA	11/04/15	\$ 0.00	N/A
PHS	Southern New Jersey College Fair 35 Seniors 2 Chaperones	West Deptford, NJ	10/29/15	\$ 0.00	N/A
PHS	Atlantic City Medical Center Trauma Unit 18 Students 2 Chaperones	AC, NJ	10/29/15	\$ 0.00	N/A
PHS	Lincoln Financial Field 37 students 3 Chaperones	Philadelphia, PA	10/28/15	\$ 201.00 Registration	15-190-100-800-0000-050
PHS	LAS Hispanic Heritage Celebration 75 Students 3 Chaperones	LAS	10/22/15	\$ 275.00	15-000-270-512-0000-050
MSP	Cape May County Zoo 50 Students 4 Chaperones	Cape May, NJ	11/11/15	\$ 120.00	20-241-200-100-0000-545 Title III
MSP	Cold Springs Village 50 Students 4 Chaperones	Cape May, NJ	05/25/15	\$ 450.00	20-241-200-100-0000-545 Title III

- 5. Be it Resolved, that the Pleasantville Board of Education approve the 2015-2016 updated Pleasantville Principal Evaluation Rubric.
- **6. Be it Resolved, that the Pleasantville Board of Education approve** Administrators to monitor the Power Hour Supplemental Services Program at the Elementary School sites. Effective Date: Mondays, Tuesdays, Wednesdays

and Thursdays. October 21, 2015 through March 31, 2016. Salary rate: per contractual agreement or 1.0 hours per day for 77 days for four administrators. Total for the program is not to exceed \$ 18, 840.00 utilizing account 11-000-221-106-0000-234.

Name	Position	Location	Effective Date	Salary	Funding source
Cynthia Ruiz-Cooper	Power Hour Administrator	WAS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234
Felicia Hyman-Medley	Power Hour Administrator	SMSS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234
Teresa McGaney-Guy	Power Hour Administrator	NMSS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234
Howard Johnson	Power Hour Administrator	LAS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234
Lapell Chapman	Power Hour Administrator	WAS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234
Lisa Stuart-Smith	Power Hour Administrator	WAS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234
Nanette Stuart-Smith	Power Hour Administrator	WAS	October 2015 through March 2016	\$ 60.00 per hour for 77 hours not to exceed \$ 4,620.00	11-000-221-0000-234

7. Be it Resolved, that the Pleasantville Board of Education approve Family Involvement Coordinators to work under the Title I program assisting with the implementation of Parental Involvement activities. Activities will provide parents with ideas, strategies, and tools for helping their child to succeed in school and beyond the campus doors. Effective date: October 21, 2015 through June 30, 2016. Salary rate: \$ 1,728.00 per building for each contractual agreement. Utilizing account # 20-231-200-100-0010-545.

Name	Position	Location	Effective Date	Salary	Funding source
Michelle Archie	Family Involvement Coordinator	NMSS	October 2015 through June 2016	\$ 1, 728.00 Per A-2 Contract	20-231-200-100-0010-545
Sharon Cross	Family Involvement Coordinator	SMSS	October 2015 through June 2016	\$ 1, 728.00 Per A-2 Contract	20-231-200-100-0010-545
Sandy Solorzano	Family Involvement Coordinator	WAS	October 2015 through June 2016	\$ 1, 728.00 Per A-2 Contract	20-231-200-100-0010-545
Monica White	Family Involvement Coordinator	MSP	October 2015 through June 2016	\$ 1, 728.00 Per A-2 Contract	20-231-200-100-0010-545
Meshawn Pettus	Family Involvement Coordinator	LAS	October 2015 through June 2016	\$ 864.00	20-231-200-100-0010-545
Gretchen Wilkes	Family Involvement Coordinator	LAS	October 2015 through June 2016	\$ 864.00	20-231-200-100-0010-545

8. Be it Resolved, that the Pleasantville Board of Education approve supplemental stipend for seven team members of PBSIS initiative involved in summer planning professional development for the staff and students, update the Code of Conduct to reflect current infractions and make PBSIS recommendations, create a monthly and yearly calendar for fundraising activities, celebrations and recognition system for PBSIS initiative for the 2015 – 2016 school year, beginning Wednesday, August 19, 2015, and ending August 31, 2015, at a rate of \$30.00 per hour not to exceed a total of \$6,720 utilizing account # 15-000-240-104-0000-055.

Name	Position	Location	Effective Date	Salary	Funding Source
LaTorre Michael	Teacher	MSP	August 19 – 2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055
Kopke Ann	Social Worker	MSP	August 19 –2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055
Gillespie Mary	SAC	MSP	August 19 – 2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055
Reed Jeanette	Teacher	MSP	August 19 –2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055
Elias Latanya	Teacher	MSP	August 19 – 2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055
Percy Danielle	Teacher	MSP	August 19 –2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055
Randall Dr. Luraine	Guidance Counselor	MSP	August 19 – 2015 August 31, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-000-240-104-0000-055

9. Be it Resolved, that the Pleasantville Board of Education approve 3 teachers to receive A-2 contracts for the position of SIOP coach. These teachers will serve as resources for the mainstream teachers as well as monitor the former students. Using NCLB Title III account #20-241-200-100-0000-545.

Name	Position	Location	Effective Date	Salary/stipend	Funding Source
Daniel Emmert	Teacher	PHS	October 15, 2015- June 15, 2016	\$1,728.00	NCLB Title III -20-241-200-100-0000-545
Susana Faulhaber	Teacher	WAS	October 15, 2015- June 15, 2016	\$1,728.00	NCLB Title III -20-241-200-100-0000-545
Janet Bravo	Teacher	MSP	October 15, 2015- June 15, 2016	\$1,728.00	NCLB Title III -20-241-200-100-0000-545

10. Be it Resolved, that the Pleasantville Board of Education approve to amend the financial amount and days approved by the Pleasantville Board of Education at the September 8, 2015 board meeting for the provision of Power Hour Program. The financial amendment will increase Title One monies for this program from \$128, 0000 to a

financial allocation amounting to \$162,500.00 for purposes of providing additional after school enrichment services to students in Grades K-5 who are the most academically at risk at the Elementary School sites.

- **NAME**: Power Hour Supplemental Services Program
- **POSITION**: Teachers/ Aides
- **LOCATION**: All Elementary Schools in the District: Leeds Ave. School, North Main Street School, South Main Street School and Washington Ave. School
- EFFECTIVE DATE: October 2015 through March 2016; Mondays, Tuesdays, Wednesdays, and Thursdays
- SALARY / RATE: per contractual agreement or 2 hours per day for 77 days for teachers; total fees for the program are not to exceed \$162,500 utilizing account # 20-231-100-100-0000-545/ Title I Funds for 2015-2016
- 11. Be it Resolved, that the Pleasantville Board of Education approve (6) teachers to participate in the Middle School of Pleasantville's Literacy Committee, as per the MSP School Improvement Plan. The committee will work collaboratively to modify and enhance ELA curriculum, adjust pacing, and revise assessments to monitor student progress. The team will meet a total of 20 hours over the course of the school year, utilizing Title I Funds 20-231-100-100-0000-545.

Name	Position	Effective Date	Location	Salary	Funding source
Merline	8th Grade ELA	Nov.1, 2015-	MSP	\$30.00 per hour for	20-231-100-100-0000-545
Andrea	Teacher	June 15, 2016		20 hours not to exceed \$600.00	2014-2015Title 1 SIP
Doms	7th Grade ELA	Nov.1, 2015-	MSP	\$30.00 per hour for	20-231-100-100-0000-545
Jeanine	Teacher	June 15, 2016		20 hours not to exceed \$600.00	2014-2015Title 1 SIP
Russo	6th Grade ELA	Nov.1, 2015-	MSP	\$30.00 per hour for	20-231-100-100-0000-545
Kathy	Teacher	June 15, 2016		20 hours not to exceed \$600.00	2014-2015Title 1 SIP
Ríos	Bilingual	Nov.1, 2015-	MSP	\$30.00 per hour for	20-231-100-100-0000-545
Cynthia	Teacher	June 15, 2016		20 hours not to exceed \$600.00	2014-2015Title 1 SIP
Christine	ELA Coach	Nov.1, 2015-	MSP	\$30.00per hour for	20-231-100-100-0000-545
Teeney		June 15, 2016		20 hours not to exceed \$600.00	2014-2015Title 1 SIP
Michelle	Special	Nov.1, 2015-	MSP	\$30.00 per hour for	20-231-100-100-0000-545
Ferretti	Education	June 15, 2016		20 hours not to exceed \$600.00	2014-2015Title 1 SIP
	Teacher				

- **12. Be it Resolved, that the Pleasantville Board of Education approve** the donation of dictionaries to 3rd. grade students at all elementary schools by the Somers Point Rotary Club. To be distributed to each elementary school.
- 13. Be it Resolved, that the Pleasantville Board of Education approve NJCTL Professional Training Sessions: Replace Frances Brinkley-Ward with Michael Kiefer (SMSS) and replace Christine Stanford (WAS) with Faith Penrose (WAS). Also, add James Nagbe (PHS) and Jonathan Polhemus (SMSS) to the session series. @ 30.00 per hour for 10 hours not to exceed \$ 300.00 per teacher utilizing account # 20-291-100-100-0000-545.
- **14. Be it Resolved, that the Pleasantville Board of Education approve** the following Parent/Teacher conference dates & times for all elementary schools and The Early Childhood Center at Decatur Avenue Report cards will be distributed to parents/guardians during conferences. There will be early dismissal on conference days 1:05pm. Afterschool K.E.Y.S. programs and C.A.R.E. programs will be open on these days.
 - Tuesday, November 17th, 1:15pm-3:00pm
 - Wednesday, November 18th. 6:00pm-8:00pm
 - Thursday, November 18th. 1:15pm-3:00pm
- Tuesday, April 19th 1:15pm-3:00pm
- Wednesday. April 20th, 6:00pm-8:00pm
- Thursday, April 21st. 1:15pm-3:00pm

15. Be it Resolved, that the Pleasantville Board of Education approve The Spanish club for Leeds Avenue Elementary, North Main Street School, Washington Avenue School, South Main Street School, Pleasantville Middle School and Pleasantville High School. This club would meet two time a week give the opportunity to non-Spanish speaking students to learn Spanish. 6 staff members will be given an A-2 contract for \$ 1,178.00 for the program utilizing account # # 11-000-221-500-0000-23.

Name	Location	Start Date	End Date	Salary	Funding Source
TBD	LAS	01/04/16	06/30/16	\$ 1,178.00	# 11-000-221-500-0000-23.
TBD	NMSS	01/04/16	06/30/16	\$ 1,178.00	# 11-000-221-500-0000-23.
TBD	SMSS	01/04/16	06/30/16	\$ 1,178.00	#11-000-221-500-0000-23.
TBD	WAS	01/04/16	06/30/16	\$,1,178.00	# 11-000-221-500-0000-23.
TBD	PHS	01/04/16	06/30/16	\$ 1,178.00	# 11-000-221-500-0000-23.
TBD	MSP	01/04/16	06/30/16	\$ 1,178.00	# 11-000-221-500-0000-23.

- 16. Be it Resolved, that the Pleasantville Board of Education approve DAB Consulting Services to provide Professional Behaviors in the Workplace professional development on October 9, 2015 to all district secretaries. At a cost of \$ 600.00 utilizing account # 11-000-221-500-0000-23.
- 17. Be it Resolved, that the Pleasantville Board of Education approve 2 teachers to receive A-2 stipends not to exceed \$ 1,728.00 Using account 20-241-200-100-0000-545 NCLB Title III for the position of Newcomer Liaison. These teachers will work to provide a bridge between the Newcomer student and their family and the schools in the Middle School and High School. They will work to acculturate and acclimate the student to the American School.

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Flores	Teacher	PHS	10/21/15	\$ 1,728.00	20-241-200-100-0000-545
Grizelda			06/15/16		NCLB Title III
Gonzalez	Teacher	MSP	10/21/15	\$ 1,728.00	20-241-200-100-0000-545
Sara			06/15/16		NCLB Title III

- 18. Be it Resolved, that the Pleasantville Board of Education approve ELA/Math Coaches, Allison Cordivari and Kaisha Medina to develop and prepare Power Hour pre and post assessment documents for the purpose of diagnostic evaluation of student levels in order to monitor student achievement throughout the program. Salary would be \$ 30.00 per hour not to exceed 5 hours for a total \$ 150.00 per coach. Total not to exceed \$ 300.00 utilizing account # 11-000-223-104-0000-234.
- 19. Be it Resolved, that the Pleasantville Board of Education approve Allison Cordivari, Kaisha Medina and Victoria Williamson to serve as presenters at the Professional Development Workshop to be held on Thursday, October 14, 2015 from 3:30pm-5:00pm for staff who will be participating in the Elementary School Power Hour Program that runs from October 2015 through March 2016.

NAME: Power Hour Supplemental Services Program

POSITION: 3 Presenters

LOCATION: Pleasantville High School

EFFECTIVE DATE: October 14, 2015. 3:30-pm-5:00pm.

SALARY/RATE: 3 Hours @ 30.00 per hour not to exceed \$ 90.00 per presenter. Total of \$ 270.00

FUNDING SOURCE: 11-000-223-104-0000-234,

20. Be it Resolved, that the Pleasantville Board of Education approve to hire staff for the Board Approved Power Hour After School Program to be held at the Elementary School sites as offered via the Title One/ Title Three service components. The program purpose is to provide additional after school enrichment services to students in Grades K-5 who are the most academically at risk due to performance and/or environmental circumstances.

NAME: Power Hour Supplemental Services Program

POSITION: Teachers; see attachment

LOCATION: All Elementary Schools in the District: Leeds Ave. School, North Main Street School, South Main

Street School, Washington Ave. School

EFFECTIVE DATE: October, 2015 through April, 2016; Tuesdays, Wednesdays, and Thursdays

SALARY / RATE: per contractual agreement or 2.0 hours per day for 74 days for teachers; total fees for the

program are not to exceed \$162,500

FUNDING SOURCE: 20-231-100-100-0000-545/ Title | Funds for 2015-2016

Name	Position	Location	Effective Date	Salary	Funding Source
Marissa	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Ward	Teacher	Ave School	March 2016	exceed \$3,330.	20-231-200-100-0010-545
Donna	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
McGoldrick	Teacher	Ave School	March 2016	exceed \$3,330	
Diane	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Thompson	Teacher	Ave School	March 2016	exceed \$3,330	
Sylvia	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Stephens	Teacher	Ave School	March 2016	exceed \$3,330	
June Puryear	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
-	Teacher	Ave School	March 2016	exceed \$3,330	
Kathleen	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Reeves	Teacher	Ave School	March 2016	exceed \$3,330	
Michael	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-240-100-100-0000-545
Zain	Teacher	Ave School	March 2016	exceed \$3,330	
Desiree	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Daniels Green	Teacher	Ave School	March 2016	exceed \$3,330	
Janida	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Dellior	Teacher	Ave School	March 2016	exceed \$3,330	
Sharon	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Tommi	Teacher	Ave School	March 2016	exceed \$3,330	
Dorothy	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Lydon	Teacher	Ave School	March 2016	exceed \$3,330	
Rose	Power Hour	Maskinston	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Giunta	Substitute	Washington	March 2016	exceed \$3,330	
	Teacher	Ave School			,
Coleen	Power Hour	Manhinata	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Abel	Substitute Teacher	Washington Ave School	March 2016	exceed \$3,330	

Christina Favre	Power Hour Substitute Teacher	Washington Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Zelethea Johnson	Power Hour Substitute Teacher	Washington Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Hernando	Power Hour	Washington	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Villafañe	Teacher	Ave School	March 2016	exceed \$3,330	
Jamie Ford	Power Hour Teacher	Washington Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Mary	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Low	Substitute Teacher	School	March 2016	exceed \$3,330	20-231-200-100-0010-043
Syreeta Primus	Power Hour Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Marshella Cass	Power Hour Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Jayson Benson	Power Hour Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Ronald	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Fogg	Teacher	School	March 2016	exceed \$3,330	
Katherine	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Watson	Teacher	School	March 2016	exceed \$3,330	
Patricia	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Davis	Teacher	School	March 2016	exceed \$3,330	
Teresa	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Lamond	Teacher	School	March 2016	exceed \$3,330	
Nanette	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Wheaton	Teacher/ Substitute	School	March 2016	exceed \$3,330	
Leo	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Hamlett	Teacher	School	March 2016	exceed \$3,330	
Brittany LaPorte	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
	Teacher	School	March 2016	exceed \$3,330	
Stacey Swann	Power Hour Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Mathew	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Krason	Teacher	School	March 2016	exceed \$3,330	
Dawn	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Karpinski	Teacher	School	March 2016	exceed \$3,330	
Quenna	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Martin	Teacher	School	March 2016	exceed \$3,330	
Bruce	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Harper	Teacher	School	March 2016	exceed \$3,330	
Tamara	Power Hour	Leeds Ave	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Misa	Substitute Teacher	School	March 2016	exceed \$3,330	
Roslyn Forbey	Power Hour Substitute Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545

Alyssa Tavarez	Power Hour Substitute	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Martha Wisenbaker	Teacher Power Hour Substitute Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Eric Walden	Power Hour Substitute Teacher	Leeds Ave School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Kevin Sellman	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Michelle McCline	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
John Toland	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Tim Kelly	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Ralph Brinkley-Ward	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Debbie Torreblanco	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Elana Meade	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Patricia Defant	Power Hour Teacher/ Substitute	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Deborah Delahant	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-240-100-100-0000-545
Kia Allen	Power Hour Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-240-100-100-0000-545
Linda Baum	Power Hour Substitute Teacher	North Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Christine Roller	Power Hour Teacher	South Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Jill Hennis	Power Hour Teacher	South Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Willie Ceasar	Power Hour Teacher	South Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Cassandra Russell	Power Hour Teacher	South Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Delnora Rowell	Power Hour Teacher	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Adrienne Wesley	Power Hour Teacher	Street School South Main Street School	March 2016 October, 2015- March 2016	exceed \$3,330 74 hours x \$45 per hour not to	20-231-200-100-0010-545
Darchele Scott	Power Hour Teacher	South Main Street School	October, 2015- March 2016	exceed \$3,330 74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Eugene Croff	Power Hour Teacher	South Main Street School	October, 2015- March 2016	74 hours x \$45 per hour not to exceed \$3,330	20-231-200-100-0010-545
Kelly	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545

Turner	Teacher	Street School	March 2016	exceed \$3,330	
Jillian	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Butterhof	Teacher	Street School	March 2016	exceed \$3,330	
Michael	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Kìefer	Teacher	Street School	March 2016	exceed \$3,330	:
Tatianna	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Cunningham	Teacher	Street School	March 2016	exceed \$3,330	
Jennifer	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-240-100-100-0000-545
Martinez	Teacher	Street School	March 2016	exceed \$3,330	
Ericka	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-240-100-100-0000-545
Watson	Teacher	Street School	March 2016	exceed \$3,330	
Christopher	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-240-100-100-0000-545
Smith	Teacher	Street School	March 2016	exceed \$3,330	
Virginia	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Baralus	Substitute	Street School	March 2016	exceed \$3,330	
	Teacher				
Yvonne	Power Hour	South Main	October, 2015-	74 hours x \$45 per hour not to	20-231-200-100-0010-545
Dill-White	Substitute	Street School	March 2016	exceed \$3,330	
	Teacher				
Faletta	Power Hour Aide	North Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Hare		Street School	March 2016	exceed \$1,800	
Ramona	Power Hour Aide	North Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Guenther		Street School	March 2016	exceed \$1,800	
Jennifer	Power Hour	North Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Brooks	Substitute Aide	Street School	March 2016	exceed \$1,800	
Faletta	Power Hour Aide/	North Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Hare	Substitute	Street School	March 2016	exceed \$1,800	
Karen	Power Hour Aide	South Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Uqdah		Street School	March 2016	exceed \$1,800	
Beatrice	Power Hour Aide	South Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Moore		Street School	March 2016	exceed \$1,800	
Marie	Power Hour Aide/	South Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Guillaume	Substitute	Street School	March 2016	exceed \$1,800	
Ashlee	Power Hour Aide/	South Main	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Keyes-Gonzales	Substitute	Street School	March 2016	exceed \$1,800	
Barbara	Power Hour Aide	Leeds Ave	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Mason		School	March 2016	exceed \$1,800	
MeShawn	Power Hour Aide	Leeds Ave	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Pettus		School	March 2016	exceed \$1,800	
Sandra	Power Hour Aide	Washington	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Torres		Ave School	March 2016	exceed \$1,800	
Sandra	Power Hour Aide	Washington	October, 2015-	68 hours x \$30 per hour not to	20-231-200-100-0010-545
Rosales		Ave School	March 2016	exceed \$1,800	

21. Be it Resolved, that the Pleasantville Board of Education approve to apply for Slow Food South Jersey Shore Grants at the Decatur Avenue School, Washington Avenue School, and South Main Street School sites. The purpose of the grant is to support the building and maintaining of organic vegetable gardens on each campus. The grant offers a \$500.00 award to each school site so that they may create school vegetable gardens that provide hands-on

experiences that enhance learning in the subjects of math, science, art, health, and home economics. The program will also teach students to make healthy choices at home and in the school lunchroom.

22. Be it Resolved, that the Pleasantville Board of Education approve following personnel listed below for MSP's School Improvement Panel (ScIP) on October 13, 2015's Board agenda

Name	Position	Location	Effective Date	Salary	Funding Source
Stephen L. Townsend	Principal	MSP	October 19, 2015- June 30, 2016	N/A	N/A
Rayna Hendricks	Asst. Principal	MSP	October 19, 2015- June 30, 2016	N/A	N/A
Andrea Atkins-Turner	Asst. Principal	MSP	October 19, 2015- June 30, 2016	N/A	N/A
Darryl Ramsey	Math Coach	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055
Christine Teeney	ELA Coach	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055
LaTanya Elias	Teacher	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055
Elizabeth Hurley	Teacher	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055
Janelle Robinson	Teacher	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055
Ericka Boehm	Teacher	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055
Janet Bravo	Teacher	MSP	October 19, 2015- June 30, 2016	\$30.00 per hour for 20 hours not to exceed \$600.00	15-000-240-104-0000-055

23. **Be it Resolved that the Pleasantville Board of Education approve** of the workshop" Assessment Writing & Uploads on edConnect for ELA and Science. (9th -12th) Presenter: Constance Days for October 26th from 3:00pm - 5:00pm. Participants will learn how to use edConnect test builder to develop ELA and Science assessments, create, and/or upload assessments

Name	PD	Cost	Account #
	Location		-
Constance Days,	PHS	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Presenter			

Russell Weems	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Josephine Troy	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Brittany Wallace	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Heather Sickler	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Gary Gray	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Patrick Chilliri	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Patti Varallo	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Judith Lokich	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Richard McAllister	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Michelle Everett	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Kristen Harris	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Clifford Moore	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Barbara Potter	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Sara Bailey	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Russell Whaley	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
James Hutton	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Denise Kubaska	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Nicole Mcneal	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
George Murray	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
James Nagbe	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Jonathan Polhhemus	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Russell Whaley	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
			

24. **Be it Resolved, that the Pleasantville Board of Education approve** the workshop: ELA Refresh – Unpacking the ELA Instructional Units and Exploring the Intervention components. (9th-12th), Presenter Constance Days for (10/27/2015) from 3:00pm -5:00pm. These series of workshops will allow the teachers to unpack the instructional units that were recently uploaded and have vertical articulation discussions about expectations, scope and sequence, and how to use the data and the curriculum to meet the needs of students. Teachers will also receive a refresher on Achieve 3000 which includes: running reports using data to drive instruction, and grouping students. A salary of \$ 30.00 per hour for 2 hours not to exceed \$ 60.00 for attendees and 4 hours @ 30.00 not to exceed \$ 120 for the presenter utilizing account # 11-000-221-104-0000-234.

Name	PD Location	Cost	Account #
Constance Days,	PHS	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Presenter			
Russell Weems	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Josephine Troy	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Brittany Wallace	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Heather Sickler	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Gary Gray	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

Patrick Chilliri	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Patti Varallo	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Judith Lokich	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Richard McAllister	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Michelle Everett	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Kristen Harris	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Clifford Moore	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Barbara Potter	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

25. Be it Resolved, that the Pleasantville Board of Education approve the workshop: Closing Achievement Gaps through Response to Instruction and Intervention. (K-2), Presenter Victoria Williamson for (October 27th) from 3:30pm-5:30pm. Participants will explore research based intervention strategies to address academic and social behaviors of students of students through the RTI framework includes using a data-driven model to enable early identification and strategic intervention to support students in the areas of academics and/or behavior: a multi-level instructional framework aimed at improving instruction for ALL students, and a shared, collaborative, decision-making process among professionals A salary of \$ 30.00 per hour for 2 hours not to exceed \$ 60.00 for attendees and 4 hours @ 30.00 not to exceed \$ 120 for the presenter utilizing account # 11-000-221-104-0000-234.

Name	PD Location	Cost	Account #
Victoria Williamson, Presenter	SMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Annmarie Mirgliani	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Dawn Morris	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Elizabeth Ingargiola	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Patricia Defant	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Michelle Jacobs	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Brian Kavanagh	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
John Toland	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Michelle McCline	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Candace Deluccia	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Renee Alford	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Ralph Ward	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Brendelon Seawell	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Robin Holmes	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Kristine Miller	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

Terre Alabarda	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Leslie Price	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Celina Kurtz	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Jill Hennis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Zelda Prieta	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Debbie Collins-Rice	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Adrienne Wesley	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Grace Connelly	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Cassandra Russell	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
John Motley	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Shina Howerton- Tiller	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Beth Maisto	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Robin Dennis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Racheal Bey- Burghart	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Y'Tanya Gillespie	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Tara Esposito	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Marlene Barrera	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Kathleen Reeves	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Quenna Martin	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

26. **Be it Resolved, that the Pleasantville Board of Education approve** the workshop: Fractions Progressions (3rd-5th), Presenter: Allison Cordivari for (October 27) from 3:30pm -5:00pm. This workshop is being offered for a second time for those who were not able to attend the session held in January 2015. It is designed to provide teachers with hands on activities with fraction bars, use of benchmarking fractions on a number line and visual presentations for various fraction procedures. Resources and activities for PARCC preparation activities will also be incorporated. This workshop focuses on strategies for students to develop a strong conceptual understanding of fraction concepts. A salary of \$ 30.00 per hour for 1.5 hours not to exceed \$ 45.00 for attendees and 3 hours @ 30.00 not to exceed \$ 90.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 540.00.

Name	PD Location	Cost	Account #
Allison Cordivari,	LAS	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Presenter			

Mary Flynn	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Ernestine Lackland	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Roselin Forbey	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kathy McQueen	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Eugene Croff	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kelly Turner	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Maria Degirolamo-	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Quigley		·	
Frankie Davis	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Sharon Tommi	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Catherine Jung	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234

27. **Be it Resolved, that the Pleasantville Board of Education approve** the workshop: Math Refresh – Unpacking the Math Instructional Units and Exploring the Renaissance Math Intervention components. (6th-8th), Presenter Darryll Ramsey Jr. for (10/27/2015 and 10/28/2015) from 3:30pm -5:00pm. This series of workshops will allow the teachers to unpack the instructional units that were recently uploaded and have vertical articulation discussions about expectations, scope and sequence, and how to use the data and the curriculum to meet the needs of students. Teachers will get refresher information on the Renaissance Math program which includes running reports, creating learning pathways, and grouping students. A salary of \$ 30.00 per hour for 3 hours not to exceed \$ 90.00 for attendees and 6 hours @ 30.00 not to exceed \$ 180.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 810.00.

Name	PD Location	Cost	Account #
Darryll Ramsey Jr. Presenter	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Maria Datillo	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Debra Battle	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Ken Norton	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Karla Carmichael	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Daniel Piettro	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Blake Boffa	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Nicola Tasoff	MSP	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234

28. **Be it Resolved, that the Pleasantville Board of Education approve** the workshop: Next Generation Science Standards & NJCTL Resources & Materials (K-5th), Presenter Allison Cordivari for (October 28) from 3:30pm -5:00pm. This workshop will serve as a session for teachers to become familiar with the Next Generation Science Standards as well as the free resources provided by the New Jersey Center for Teaching and Learning. Using these standards and resources teachers will feel equipped to begin implementation of the Next Generation Science Standards. A salary of \$ 30.00 per hour for 1.5 hours not to exceed \$ 45.00 for attendees and 3 hours @ 30.00 not to exceed \$ 90.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 900.00.

Name	PD Location	Cost	Account #
Allison Cordivari,	LAS	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Presenter			
Michael Zain	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Michelle McCline	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Candace Deluccia	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Patricia Defant	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Linda Hores-Baum	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Michelle Jacobs	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kevin Sellman	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Ralph Ward	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Mary Flynn	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Sharone Brown-	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Jackson			
Christina Favre	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Bendelon Seawell	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kristine Miller	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Celina Kurtz	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Jill Hennis	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Debbie Collins- Rice	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Adrienne Wesley	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Michael Kiefer	LAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234

29. **Be it Resolved, that the Pleasantville Board of Education approve** the workshop "Intro to the TI-84 Graphing Display Calculator for PARCC testing (9th -12th), Presenter David Masters for October 28th from 3:00pm -5:00pm. This workshop will provide hands on experiences for the math and science teachers with the Graphing calculators to support student achievement. A salary of \$ 30.00 per hour for 2 hours not to exceed \$ 60.00 for attendees and 4 hours @ 30.00 not to exceed \$ 120.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 480.00.

Name	PD Location	Cost	Account #
David Masters,	PHS	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Presenter			
Merin Willy	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Lynne McKnight	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Carla Block-Ropiecki	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Denise Kubaska	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
James Nagbe	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Jonathon Polhemus	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

30. **Be it Resolved, that the Pleasantville Board of Education approve the workshop**," How to Effectively Communicate with Students and Parents of different languages." Advanced class, Presenter Renee Gensamer for

October 28th from 3:30pm -5:00pm. (K-12) This workshop is a refresher course for those who took the series of workshop in the spring. This workshop provides the participants with language that is needed to communicate with students and parents to build a relationship to support academic achievement. A salary of \$ 30.00 per hour for 1.5 hours not to exceed \$ 45.00 for attendees and 3 hours @ 30.00 not to exceed \$ 90.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 630.00

Name	PD Location	Cost	Account #
Renee Gensamer,	WAS	3 @ \$30.00 not to exceed \$ 90.00	11-000-221-104-0000-234
Presenter			
Stephanie Burns	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Deborah Delahant	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Tim Kelly	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Brian Kavanagh	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Robin Holmes	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Barbara Sooy	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Beth Maisto	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Tara Esposito	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Rosemarie Giunta	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kathleen Reeves	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Quenna Martin	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Marlene Barrera	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234

31. Be it Resolved, that the Pleasantville Board of Education approve the workshop: Free Assessment Tools that will Impact Students Success, Presenter: Jeffrey Laster for October 28th from 3:30pm -5:00pm (K-12). Participants will be empowered to engage and assess students as learning is happening. Through the use of real-time questioning, result aggregation, and visualization, you'll have instant insight into levels of understanding so you can use class time to better collaborate and grow as a community of learners A salary of \$ 30.00 per hour for 1.5 hours not to exceed \$ 45.00 for attendees and 3 hours @ 30.00 not to exceed \$ 90.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 945.00

Name	PD	Salary	Funding Source
	Location		
Jeffrey Laster,	MSP	3 @ \$30.00not to exceed \$90.00	11-000-221-104-0000-234
Presenter			
Elena Meade	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Delores Roberts	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kim Sparks	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
John Toland	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Jessica Howell	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Constance Days	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Dawn Morris	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Liza Levitt	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Susan Swezeny	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Sandra Strazzeri	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Lisa Barahona	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
William Bartle	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Regina Tronu	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Janet Bravo	MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234

Zelda Prieto MSP	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
------------------	-------------------------------------	-------------------------

32. Be it Resolved, that the Pleasantville Board of Education approve the workshop: Closing Achievement Gaps through Response to Instruction and Intervention. (3-5), Presenter Victoria Williamson for (October 29th) from 3:30pm-5:30pm. Participants will explore research based intervention strategies to address academic and social behaviors of students of students through the RTI framework includes using a data-driven model to enable early identification and strategic intervention to support students in the areas of academics and/or behavior: a multi-level instructional framework aimed at improving instruction for ALL students, and a shared, collaborative, decision-making process among professionals. A salary of \$ 30.00 per hour for 2 hours not to exceed \$ 60.00 for attendees and 4 hours @ 120.00 not to exceed \$ 90.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 1,020.00

Name	PD	Salary	Funding Source
	Location	-	
Victoria Williamson,	SMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Presenter		_	
John Toland	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Michelle McCline	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Candace Deluccia	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Patricia Defant	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Tammy Misa	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Joann Dittmar	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Darchele L. Scott	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Maria Degirolamo-	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Quigley			
Eugene Croff	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Frankie Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Tara Esposito	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Sharon Tommi	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Robin Holmes	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Brendelon Seawell	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Quenna Martin	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

33. Be it Resolved, that the Pleasantville Board of Education approve the workshop: Building Rigorous ELA Assessments Part 1 (2nd-5th), Presenter Kaisha Medina for (October 29th) from 3:30pm-5:30pm. Participants will learn how to use edConnect test builder to develop ELA Assessments using matching task, and checklist to prepare for Unit 2. There will be a brief review of making open ended, inline and multiple choice questions. Participants will be required to bring ELA materials to develop a test to use for Unit 2. A salary of \$ 30.00 per hour for 2 hours not to exceed \$ 60.00 for attendees and 4 hours @ 30.00 not to exceed \$ 120.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 780.00

Name	PD Location	Salary	Funding Source

Kaisha Medina,	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Presenter			
Deborah Gaskins	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Tim Kelly	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Deborah Delahant	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Matt Barnard	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Jayne Dempsey	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Dawn Karpinski	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Matthew Krason	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Grace Connelly	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Regina Callaghan	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Debbie Collins-Rice	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Adrienne Wesley	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

34. Be it Resolved, that the Pleasantville Board of Education approve the workshop: ELA Refresh – Unpacking the ELA Instructional Units and Exploring the Intervention components. (6-8th), Presenter Christine Teeny for (10/27/2015, 10/28/2015 and 10/29/2015) from 3:30pm -5:30pm. These series of workshops will allow the teachers to unpack the instructional units that were recently uploaded and have vertical articulation discussions about expectations, scope and sequence, and how to use the data and the curriculum to meet the needs of students. Teachers will get refresher information on the Achieve 3000 and Read 180 programs which includes: running reports using data to drive instruction, and grouping students. A salary of \$ 30.00 per hour for 6 hours not to exceed \$ 180.00 for attendees and 4 hours @ 30.00 not to exceed \$ 360.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 2,880.00

Name	PD Location	Salary	Funding Source
Christine Teeney,	MSP	12 @ \$30.00 not to exceed \$360.00	11-000-221-104-0000-234
Presenter			
Elise Thompson	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Andrea Merline	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Michelle Ferretti	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Janelle Robinson	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Angela Davis	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Adrian Birch	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Ashley Hoerr	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Shawna Coles	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Lisa Yaccarino	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Renee Irwin	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
John Dulski	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Ann Graves	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Kathy Russo	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Jeanine Doms	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234

35. Be it Resolved, that the Pleasantville Board of Education approve the workshop: SIOP Instructional Strategies and Modifications for the English Language Learners in the Mainstream and Special Area Classrooms, Presenter: Renee Gensamer for October 30th from 3:30pm -5:00pm (K-12). This workshop will present accommodations and modifications that you should be making for your students according to the DOE. In addition it will provide participants with a multitude of resources that they may use with their English Language Learners. A salary of \$ 30.00 per hour for 1.5 hours not to exceed \$ 45.00 for attendees and 3 hours @ 30.00 not to exceed \$ 90.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 855.00

Name	PD Location	Salary	Funding Source
Renee Gensamer, Presenter	WAS	3 @ \$30.00 not to exceed \$90.00	11-000-221-104-0000-234
Elizabeth Ingargiola	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Lisa Barahona	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Sandra Strazzeri	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Shawna Coles	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Alison Daub	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Adrian Birch	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Zelda Prieto	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Beth Maisto	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Vanessa Ramirez	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Tara Esposito	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Rosemarie Giunta	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Colleen Abel	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Kathleen Reeves	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Diane Thompson	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Robin Holmes	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Jessica Howell	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
Quenna Martin	WAS	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234

36. Be it Resolved, that the Pleasantville Board of Education approve the workshop: Building Rigorous ELA Assessments Part 2 (2nd-5th), Presenter Kaisha Medina for (October 30th) from 3:30pm-5:30pm. Participants will learn how to use edConnect test builder to develop ELA Assessments using hot spot, drag and drop, and click stick click drop to prepare for Unit 2.Participants will be required to bring ELA materials to develop a test to use for Unit 2. A salary of \$ 30.00 per hour for 2 hours not to exceed \$ 60.00 for attendees and 4 hours @ 30.00 not to exceed \$ 120.00 for the presenter utilizing account # 11-000-221-104-0000-234. Total workshop not to exceed \$ 780.00

Name	PD Location	Cost	Account #
Kaisha Medina,	NMSS	4 @ \$30.00 not to exceed \$120.0	11-000-221-104-0000-234
Presenter			
Kia Allen	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Tim Kelly	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Matt Barnard	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Jayne Dempsey	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Deborah Gaskins	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Ralph Ward	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Dawn Karpinski	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Matthew Krason	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Debbie Collins-Rice	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Adrienne Wesley	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Regina Callaghan	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

37. PULLED - Be it Resolved, that the Pleasantville Board of Education approve selected members of the African American Club, five students and two chaperones, to join United Brethren In Action (UBIA) on a 10-day trip to Malawi, Africa in support of the high school's literacy initiative and the project "Books for Malawi" in order to participate in the build the first library for two elementary schools and one high school in Malawi. All funds will be raised by the African American Club. There will be no cost to the district.

Proposed Itinerary

Leave Philadelphia airport to travel to London, England.

Daytrip to London, England.

Trip from London to South Africa and then to Blantyre, Malawi.

Arrive at Game Haven Lodge.

Game Drive.

Visit volunteers at Schools.

Visit Orphanages.

Dinner and fellowship with local High School.

Visit and tour of Parliament of Malawi.

Visit and tour Zomba Plateau and the Rift Valley.

Shop at Village Market for Paintings and Crafts.

Maschingo National Park Game Drive.

Set up of Library.

Dedication of Library.

Fellowship and volunteer at local orphanages or school

Budget Per Person

Total Cost per person	\$3,216.16
Game Park Entrance Fees	50.00
Ground Transportation Van Rental	150.00
Room & Board	800.00
Roundtrip Airfare	\$2,216.16

38. Be it Resolved, that the Pleasantville Board of Education approve the following home instruction for the following students.

ID#	Projected Number of Days	Projected Number of Hours	Cost Per Hour	Projected Total Cost	TYPE	GRADE	ACCOUNT#
1385154 / 7647194850	180	360	\$ 45.00	\$ 16,200.00	Admin.	12	11-219-100-101-0000-400
3070123/ 5729912086	180	360	\$ 45.00	\$ 16,200.00	Admin.	4	11-219-100-101-0000-400
3000188 / 2212768179	180	180	\$ 45.00	\$ 8,100.00	Medical	5	11-150-100-101-0000-400
1895200 / 6286671712	180	360	\$ 45.00	\$ 16,200.00	Medical	9	11-219-100-101-0000-400
11564263 / 5332834436	180	360	\$ 45.00	\$ 16,200.00	Medical	KF	11-219-100-101-0000-400
3070583 / 7276628139	180	180	\$ 45.00	\$ 8,100.00	Medical	7	11-150-100-101-0000-400
3032563 / 9732431753	180	360	\$ 45.00	\$ 16,200.00	Medical	7	11-219-100-101-0000-400
3001844 / 6842628325	180	180	\$ 45.00	\$ 8,100.00	Medical	9	11-150-100-101-0000-400

- 39. Be it Resolved, that the Pleasantville Board of Education approve Dr. Janice Fipp, from Educational Information & Resource Center, ERIC, to conduct a professional development training session titled closing the Engagement Gap on Friday, October 9, 2015, at the Middle School of Pleasantville for an amount not to exceed \$1,200.00 utilizing account 15-000-240-104-0000-055.
- 40. Be it Resolved, that the Pleasantville Board of Education approve The African Dance Ensemble on February 25, 2016, for Black History Program at North Main Street Elementary School at a cost of \$ 1,800.00 utilizing account # 15-190-100-320-0000-085.
- 41. Be it Resolved, that the Pleasantville Board of Education approve North Main Street School to receive donations using DonorsChoose. Org Donors Choose is an online organization, used by public school teachers all over the world to support class projects and trips. Their goal is to assist low-income schools/districts with donations to address educational inequities within the school system. Donations received would allow our 5th, grade students to visit the Statue of Liberty and Ellis Island Immigration Museum.

- 42. Be it Resolved, that the Pleasantville Board of Education approve North Main Street School to partner with the American Engineering and Science Robotics Academy's STEM program for the 2015-2016 school year. This program will assist students and parents understand the importance of Science, Technology, Engineering, and Math and the role it plays on a global basis through workshops, hands on activities and competitions. There is no cost to the district.
- 43. Be it Resolved, that the Pleasantville Board of Education approve the Professional Development Workshop to be held on Wednesday, October 14, 2015 from 3:30-5:00 PM for staff who will be participating in the Elementary School Power Hour Program that runs from October 2015-March 2016. At this workshop, staff will receive training on the use of specific strategies meant to address remediation concerns as evidenced via the results of standardized and summative assessments. Here staff will receive training that will enable them to build a repertoire of resources and skill techniques to service the most at-risk population serviced via the Power Hour Tutoring program. Staff will be informed about program service initiatives and will increase their understanding of how to merge teaching the Common Core Curriculum Standards and PARCC prep skills in order to facilitate increased teaching and learning. Special attention will also be paid to servicing specialized subgroups including the ESL and homeless populations.
 - **NAME**: Professional Development Training for Power Hour Supplemental Services Program
 - **POSITION**: Teachers/ Administrators
 - LOCATION: All Elementary Schools in the District: Leeds Ave. School, North Main Street School, South Main Street School and Washington Ave. School
 - **EFFECTIVE DATE**: October 14, 2014 from 3:30-5:00 PM (Superintendent approved).
 - SALARY / RATE: per contractual agreement or 1.5 hours for 52 teachers @ a rate of \$30.00 per hour= \$2,340; 1 hour for 7 administrators at a rate of \$60.00 per hour=\$420.00; total fees for the program are not to exceed \$2,760
 - **FUNDING SOURCE**: 20-231-100-100-0000-545

44. 2015-2016 POWER HOUR professional development training

Name	Position	Location	Effective Date	Salary	Funding Source
Marissa Ward	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Donna McGoldrick	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Diane Thompson	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Sylvia Stephens	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
June Puryear	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Kathleen Reeves	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Michael Zain	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed	20-231-100-100-0000-545

Sharon Tommi			Oct 14 2015	\$45.	20 221 100 100 0000 545
	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Dorothy Lydon	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Hernando Villafane	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Jamie Ford	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Desiree Daniels Green	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Janida Dellior	Power Hour Teacher	Washington Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Syreeta Primus	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Marshella Cass	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Jayson Benson	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Ronald Fogg	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Katherine Watson	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Patricia Davis	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Teresa Lamond	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Nanette Wheaton	Power Hour Teacher/ Substitute	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Leo Hamlett	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Brittany LaPorte	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545

Stacey Swann	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed	20-231-100-100-0000-545
Mathew Krason	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	\$45. 1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Dawn Karpinski	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Quenna Martin	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Bruce Harper	Power Hour Teacher	Leeds Ave School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Kevin Sellman	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Michelle McCline	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
John Toland	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Tim Kelly	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Ralph Brinkley-Ward	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Debbie Torreblanco	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Patricia Defant	Power Hour Teacher/ Substitute	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Deborah Delahant	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Kia Allen	Power Hour Teacher	North Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Christine Roller	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Jill Hennis	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Willie Ceasar	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed	20-231-100-100-0000-545

				\$45.	
Cassandra Russell	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Delnora Rowell	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Adrienne Wesley	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Darchele Scott	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Eugene Croff	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Kelly Turner	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Jillian Butterhof	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Michael Kiefer	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Tatianna Cunningham	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Jennifer Martinez	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Ericka Watson	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Christopher Smith	Power Hour Teacher	South Main Street School	Oct. 14, 2015	1.5 hours x \$30 per hour not to exceed \$45.	20-231-100-100-0000-545
Cynthia Ruiz-Cooper	Power Hour Administrator	Washington Ave School	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545
Felicia Hyman-Medley	Power Hour Administrator	South Main Street School	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545
Teresa McGaney-Guy	Power Hour Administrator	North Main Street School	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545
Howard Johnson	Power Hour Administrator	Leeds Ave School	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545
Lapell Chapman	Power Hour Substitute Administrator	District	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545

Lisa Stuart-Smith	Power Hour Substitute Administrator	District	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545
Nanette Stuart-Pitts	Power Hour Substitute Administrator	District	Oct. 14, 2015	1 hour x \$60 per hour =\$60	20-231-100-100-0000-545

Motion to approve C & I Agenda Items 1-36, 38-44 (Item #37 was Pulled).

MOTION BY:	Ms. Sharnell Morgan	SECOND BY:	Mrs. Bernice (Sandy) Couch	Yea: <u>X</u>
ROLL CALL				
Mrs. Bernice (Sandy) Couch Yes				
Ms. Sylvia Ladrón Yes			-	
Mr. Johnny McClellan Absent				
Mr. Paul Moore Yes				
Ms. Sharnell Morgan Yes				
Ms. Elyse Sanchez Yes				
Ms. Ethel Seymore Yes				
Ms. Carla Thomas Yes				
Mr. Lawrence A. Davenport Yes				
MOTION PASSEL				

RESPECTFULLY SUBMITTED BY:

Élisha Thompkins, Jr.

Business Administrator/Board Secretary

ET/tp

Dr. Leonard Fitts
Interim Superintendent of Schools



(609) 383-6800 Ext: 2506 Fax: (609) 677-8108 Email: Fitts.Leonard @pps-nj.us

MEMO

To: Elisha Thompkins, Business Administrator

Dr. Mark Delcher, Director of Human Resources

From: Dr. Leonard Fitts, Interim Superintendent

Re: October 13th Board Meeting

Date: October 15, 2015

Per the advice of the board solicitor, Mr. Darryl Rhone, the Human Resources agenda was approved on Tuesday, October 13, 2015. Please proceed accordingly by implementing the necessary paperwork and programs.

LF/rmm